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1) xn™Maat o7

2)

3)

a) "Mxn 9ORN DO NYAW Pan Yoy 2oRN XY is yan wipn to nxn
b) vaw
i) The wp>n teaches that it’s 0 to eat ynn until the yar of nxn N8 on 1" 29
c) xwp by nmm
i) The wp>nis already needed 7217 Wwaph
d) y»enof pynw M
i) We already know n21m wap? from another nwA7
X3 here
a) The wp>n teaches that a person can be xx» his 21n to eat 7¥» only with o°xan 0227
T OTo
X"wann
a) Nwp

i) Instead of asking that the wp>7 is needed 12w waph

i) 777 " should have asked that the wpor is already needed to teach the wpoi of
the xnx here

iii) Because then the yv7°n of nw»w ' that there already is another 7wa7 that
teaches 11211 w212 wouldn’t have applied
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1) X

2)

3)

a)

b)

woph v

i) There is no n1> for the yyaon of nxn if the %7 is of a kind that can’t be used to
be nxn 211 7 R¥Y

Xwp
i) The x7mx asks a Xwp to woph w» from a xn>»2
i) The details of this x*wp aren’t relevant here

awn

a)

a person can’t be X1 his 7% 211 with nxn that is Hav

X"wAnn

a)

b)

Part 1
i) the mawn is silent on whether there’s a n73 2vn for Hav yinon
i) presumably because the standard 17 applies that there’s a N2> avn for ynn
part 2
i) Xwp
(1) Then why doesn’t the &3 ask its x'wp to w*p% w1 from the nawn
i) y1n
(1) wp w1 can say that the mwn is silent on whether there’s a n1> 21n
(2) because

(@) the mwn follows nynw " who says that based on Mox %3 51 0K PR
the MoK of yan can’t be 1 on %av Mok altogether

(b) and the miwn assumes that we’d realize that there’s no n9> here for ynn
because there’s no ynn Mo°r altogether
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1) mwn
a) A person can be 173 nan X1 with *xn7 but not with 5av
2) X
a) Nwp
i) How can a person be x¥y his 7%n 2vn with *xn7
ii) After all the >xn7 isn’t ™% *1n1
3) "wn

a) There are two reasons why a person can’t be &% his ;77 21’1 with 7% that’s not
9o

i) First—"ymoxw *n"

(1) a person can be xx1 his 2y to eat 7¥» only if it’s of a kind whose y
would be mox because of ynn %a8n 22 and not because of any other 110°)

i) Second — "ava aRan mxn"

(1) It would be a 7772y 7827 M¥n to be XX a 7¥n» 210 with 787 that’s 110K
797082

4) xma
a) When the mawn says that "72v" can’t be used to be nxn 217 97> XYY
b) This includes 11217 %av as well as xn>>x7 Hav
5) "wn
a) This is because
i) Even where %2v is mox only 11217
ii) It still counts as a 77°2v2 &2 X7 to use the Hav to be o> pn the 21n of nxn
6) X"wann
a) Xwp
i) Why is it that

(1) »"wn for >xi7 uses the ayy of ymo°Rw *n as well as the ayv of Ra7 M¥nN
Py}l

(2) While >"wn for 1277 %2v uses only the oy of 77°ava Ra7 mxn



b) v
i) mo°Rw n applies only to an Xn>>x7T 0K
i) now
(1) Even though the mo°k not to eat *xn7 is only a 131297 1°7

(a) its mox is based on the possibility that the *&n7 wasn’t wwn and is
XN*7IRT TOX

(b) and it follows that ymo°xw *» applies
iii) while
(1) the mo°x for 13277 912w isn’t based on a o0 that there’s an Xn*>7IRT MO°XR
(2) And it follows that y1o°xw *» doesn’t apply
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1)

2)

3)

4)

TP'TY @D KPR WP PR IRD2 RIT NRIYN
lah!
a) "Pyonnm PR Mmoo on"
"1 as explained by n»woin and X"wAnn
a) Partl
i) "pxonma PR Mo n" means that
(1) mno >n are yonnn only to the level of nwpi yian that’s mpona
(2) They’re not ynnn to the level of 2 137 ynan that’s N1
b) part 2
i) If ooww are placed in Mm% °» that’s 21vn with oon
(1) Since ms *n are themselves y>nnn in part
(2) They don’t disturb the yy 11 by the o to the level of a3 37 ynn
i) but
(1) because the o>n was 2myn with ma°s °n

(2) The level of the resulting y»ar is maywn 7 5v 2x 137 yan that’s mpona
and not n12a the same as nwpu ynn

on 1M
a) Partl
i) M9 without o can’t be y>nnn at all — not even to the level of w5 for mphn
b) Part 2
1) If 2w are placed in M » that’s 27wn with o7
(1) Since m0 °n aren’t themselves y°nnn at all
(@) They disturb the yy°r by the o°» from rising to the level of a3 127 ynn
(b) And the level of the ywa i1 is only qwpi yan that’s mpona and not noa
R"wAn

a) For mamyn > Sy 137 yan — the same as for nwpi yan — the 715%7 is that there’s only
mpon and there’s no nN1>

b) aoxw



i) Is there a difference at all between nwpi yanm and mMawn >7° HY 3 137 yan
C) Tawn
i) "mamyn o7 %y a7 yan" is an relative to awpi yan
i) Now
(1) It’s true that
(@) for >anx7 181 other than ry"Hx M at .an A7

(1) this amin isn’t enough to bring about a difference in 17 between the
two and

(ii) both are mp »a and not N2
(2) But 2r3°ox "1 holds that there is a difference in 7:
(@) PN T 9 e T van is mpona while 7w yun isn’t even Mphna
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1)

2)

3)

4)

5)

6)

2H'RY MIYY PN TR IR wPD 2

nB0 NrIn 7o 1910 7IERR DRIR 170
w27 N72 07T W N792 07T
N 932 79703 AR W92 W

7N°N9) OX
N 931 7°h AR
P P

First 7a7pn
a) There’s no nw°? at all for N0 nnan
Second 7P

a) 12°%2 for mman noxn nman is the last 772y before nxonp and follows 7w by several
m7ay

Third 7P
a) 170 NN TR TXNPn
7awn in minaa as understood by mooin

a) TN noRM NN IS owva nen?°1 because we assume that people will be i w the
7n1n to avoid yinen

Xn>>12 on vy for nos
a) XN TN XY RAW PIWID 0V DX WD PRY W
Rapiab}
a) Xwp
i) The &n>>12 on 7w in s for noo is amo the [awn on awss in paws for mmn
b) y»n
1) CIRw mmn

ii) Because the > of mnn is done by o1 00375 who see to it that there’s no
alaus

10



7)

8)

c) wwp
i) 072 mgn begins only with nxonp
d) y»n

i) 1It’s true that mmay before nx»p — including 79°%2 — are 112 1" Ww> who aren’t
assumed to be 17

ii) Still 7°%2 is done 771v7 nma 0°10% that’s T DpH2
e) ToRw

i) Why in fact is "n9109 7371y nmn® yan a0 oa"
f) nawn

i) Because 1792 for moxn nnan as well as for n?o nman is done in a 177 n7a that is
anaw *9

mooin as explained by X"wamn in prar opna o't
a) Nwp

i) We’ve established that 7w takes place long before 7%°22 when the man is
wIpn1 by 777 in 190 N

ii) Presumably no naw %3 at all was used before 77°52

iii) So what relevance does 77°22 have to nw°? to teach that nw>5 as well as 7%°%2
needs to be done 71Y N 22195 i AT PN

b) vynof ook 1020
i) The n%o of 7981 nnan was 7721 in a w2 n before nw >
ii) w2°n n7» also counts as a nw 9>
iii) So it follows that 7% also needs to be 771y ninn %195
R"wIN
a) Nwp

i) Why does the x7n3 base this y11°n for nw»% on the 17 that 7%°%2 needs to be
done 1Y nmn 20197

b) yyn of mooIin in Mnan noon

i) The x nx here relies on the aoyv that 7mn yIn 72292 is 791090 only for any 1x»
TnR7 who might hold that w2571 n7n wasn’t nw7pni to be a naw *%5

i) And in fact
(1) for the »aK7 187 that wasi nTn was qwTpn
(2) the xn3 doesn’t rely at all on the 7 that an% yn 79292 is 72109
c) xwp of X"wAin to the y1a°n of mdoIN In Minan noon
i) They»»nisapm?

11



i) Because the fact remains that the yy7°n that the xanax actually sets out based on
79°92 doesn’t explain why it must be that nw°% was done 2% 0°19°

d) yyrnof X"wann
i) The x7na refers to the 17 that 771v% yan 32°%2 is 79109 only to explain that

(1) Just as it’s a mu>w» that N yn 72°22 is 72109 because all agree that the
121 N that was used for 77992 was aw7pn1 as a nw 573

(2) So too for oRM Nran
(@) the w5 that comes before 77°22 is 7109 if done mmIn% yin

(b) because the w211 n1 in which the nbo was 7721 before w5 was also
TWIPNI as a nIw "o

12
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1)

2)

3)

4)

2H'PY "D MM R YT P 7R
First 7a7pn
a) The five P that count as on for 719n and 7x» are
i) non
i) mww
iii) nn>d
iv) 3w naw
V) 10w
Second 7P
a) o021 applies to yrn avaw that include P 1un

b) nam> and 5w noaw and Novw are WY Pun n that don’t count as actual o
and 7y and can’t be used for o122

hqulab)

a) x2py " relies on a wp>i between ;7% and M7» to teach that pwwn pon that were
actually brought as o>1122 can’t be used for nx¥n

b) xwp

i) Why doesn’t X2°py "3 also rely on this wp>n to hold that 1 ww pon can’t be
used for 7¥n even where the Pmww i weren’t actually brought as 2102

moon according to Pwrn 0197 of H"wann
a) Nwp

1) Why doesn’t the & n3x ask that x2°py " should have relied on this wp>i1 also to
hold that

(1) not only are v o not eligible to be used for 7¥n

(2) But also the three y7ww Pun " —9°w KW N212W AN — also aren’t
eligible to be used for nxn

b) v n

13



1) Words of msoin:

(1) "7 TR Y wYRnT YA ano k"
i) Meaning

(1) r%n needs to be a form of "an>"

(2) so the ywpn is forced to accept that at least vwn Pon *1n need to be
eligible for xn

5) X"wann at nun XXX "7

6)

7)

a)
b)

d)

The words of n19o1n are all one X°wp and there’s no y17°n

Read mioin this way

i) D0°7102 31°n2 WOw P WA 23 XX 1D oK RN oxY"

i) "M IR DY wYnNT 1Y on% 1K)

Meaning that moon asks this x>wp to the ywpn

1) the jwpn shouldn’t have asked that pmww v should not be eligible for nxn
i) Because

(1) the x720 of this xwp would also make N2 Hw n?1aw Pand ineligible
for mxn

(2) and this is impossible since they are the only remaining o°°» of an® from
which 7781 can be made

Xwp to the nuw of X"wann

i) moown begin this m12°7 with "xn ox"

i) This implies that m»on will follow with a y17°n
'aRbY

i) It’s not uncommon for MoIN to begin with an anxn axy without following up
with a y17°n

Twni of the xmax

a)

v°n

1) X2°py " doesn’t apply his w1 even to be vynn using 7¥» that was actually
brought for o122

X"wAnn

a)

b)

Xowp

i) Then for x2°py " what does the wp>ri accomplish

by

i) The x7m3x uses the wpoi at .v% 77 to teach that 151 11 Ax ¥A7 1 ¥R I

14
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191 mY W WY WYRD 9BAT '"ND RUPRAT WITT IWOR RO 07 IR

1) 'Rxp™Maat.h A7

2)

3)

4)

a)

b)

d)

MONT 0T M

i) 29w W WYNA NI 0T TR RYP D0

ii) "X on% 2°n219R2 0N W an P'n

i) NIPIR2 ORI WRW 1w WY KXY MIIND DRI

X2°py ' disagrees with *o1 ' and says that

i) nmonb oX w° so the 2°n> is more important than the »1p

ii) and the 2°n> of *1v has no o> and can be read as "1 that has nothing to do
with MR

ToRY

i) But
(1) even x2°py 'Y who says nmon? ok w° and considers the 2°n> to be the 1Py
(2) ought to be w7 the »1p for at least some nwA7

mawn

i) X2py ' uses the »p to teach a nwa7 of Sxmw

i) The precise nwa7 of X1mw isn’t relevant here

Xn°>12 ono at the beginning of 1% 77

a) A person can be nxn N2 7 XX With 2w wyn

X722

a)

X2°Py "1 is the Rin of the xn>>12 ano

maoin

a)

b)

Rowp

i) Presumably any xin who agrees that nmon? ok w> would agree that >7> Rxv 7X
W WYN2 NN

i) Why does the &3 assume that x2°py "y must be the xin of the xn>92 ano
71700 as explained by X"wann

i) We’ve established that even a 9mR7 181 who says n710n2 ox must apply the »p
to some w7

Now
i) Although &2°py "1 relies on the »3p to be w17 the nwA7 of HXmw

16



i) It’s possible that
(1) other a>xin who hold nmon? ax w»

(2) are w77 the »1p to teach the 177 of *7°%37 *o1 ' that "1 7wyn can’t be used
to be 7% N2 > R¥Y

d) That’s why the & 13 prefers to say that X2°py 'y — who says outright that the »p
teaches only the nw7 of PXmw — is the xin of the xn>>12 ono

17
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N2 TatH 39 Y9YAT MR 2SR D 2DIMARR Doan TN AR AR WwYn
2DIMARIN Do2R VYR RY I MWYRW '0INT W 'AD MDA !B R Ny 2y

TP'TITY IR YR AT VIMAOR VDRT ROX R''D N7 W wow 90

N9ORI J902 7772 717 1D MIARRR N7 1P PRI PPN RNPNIRT PYD 772 Y w2
IR WYN VYRR KDY JIOR1P OHIBAT VBT 2 X7 2oy "D AR nuawn boa
WRIT2 2" NDD DD 1answ 772 DY) MIIND DORI IR YR RUR M2 boan
N7 23 RIO1 2RI N2 19 9990a7 9119 19T 20 UNRARINRR IR YR uYRnT

15 mY 1A 2917 RDR TUER RDT7 1Y PRI RDY 239 N2 AT Mawn v

1) 'Rxp™Maat.h A7
a) oTor M
1) D°PWIT 1w WYNA 7XN N2 0T KX DTN PR
i) NIPIN2 DORIIPRW 7T R MIPIRD DORIW °n NY O 2°N5T
2) %772 "2 Rn>»02 at the end of the Ty
a) oor M
i) MIX¥n 1H9IKRN D2°MARIN 932 2°N3T 0¥71322 XA NI T KXY DR PR
i) 2921772 KOR DRI IRW 0°7192 RN

1y an® WYR REY R? 5937 00 ' 'R XN72
W
552 DRI WX 2771222 R¥Y XY 5937 00 " 2 Xn™M2

mavn

3) %772 '3 ’N™1 at the Mo of the Ty
a) NPy "
i) NI¥n Y9IRN D2°MARIN 922 2°N3T7 0222 7N NI T KXY DR PR
i) 7127 Mgn MEn W 2OWITA KPR DIRIIPRY ONT 1Y WYNI ¥R NN 0T RYY HIAR
b) noRw
1) 297192 XX W WY MY DRI N
C) Tawn

18



1) RPALIWI DTN MAYIA 222 N2 W ITPIOR T RDHRT W YR OIR 720

1w an® WYNR RYY K7 5937 00 'R XN12
W
552 DRI WK 271922 R¥Y XY 5% 20 " 2 X3
mavm
©52 9OR1 1°RT 0 1Y WY RY R2pPY "1 '3 Xn>72
mxn n"n Mawvn
X"7721 7121

4) mwn as explained by the xmx at .n> a7 and 1% 77

a) 2°N27 77N MDA A¥N NI 0T R DIR PR

1) M¥nT NR anne

il) mar ow? XOR 781 QWY NANwR APRY T aNYe
b) xwp

i) 29w ROR Mawn 932 MPIRI JPRT D2 oM
c) y™n

i) 715231 2112 MYIRI 37N MO DINIR NRT

1w an® WY RYY R? 5937 00 ' 'R XN12
W

592 DRI WK 071922 R¥Y XY 559937 20 ' 2 XNM™M32
mavn

502 PRI KT Ox 1Y WYNA RY X2pY ' '3 RNN2
mxn n"n Mawvn
X"7721 721

TRTOYLA | 770 N9MA KXY XD NV "M RN MIWn

avon K91 NANwn X733
592 9oR1 KT
HIRI T MV
7IY23 213

5) mooin at 21oor "M "7 as explained by X"wan
a) Nwp

i) In'axn»2and '3 &n*>12 why don’t 2°1122 and 1w wyn in the earlier mn» 2
count as Mawn 952 PYar1 because

(1) the same as 7710 "nn>
(2) they were both 1%5x1 in 1yax an
b) y1n

i)  What was 1wax1 2112 9081 counts as mawn 222 2ox1 only during 15was 211 ya1
but not in 2w n°a a7

ii) Now
(1) The mawn on 3710 *nn% deals with 1wax 21 a1 and teaches that then
persons could be 7% nawt 7 R¥ with 7730 "7

(2) "2 ®n»n2 and a3 k012 deal with whether persons could be xn nawt > xxy
with 21122 and 1w wyn during om21w N2 a7
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6) mM»ooIN In our X210
a) Nwp

i) Why in '} Xn>>12 does >0 " need to derive from *11v on that a person can’t be
XN N2 0T KXY With "1 wyn

i) While in 'a xn»91 it’s enough for "0y ' to derive from a>>nmawn 32 that a
person can’t be ¥ N7 07 XX with 0102

b) v
i) We’ve established for 'x Xn>>12 that
(1) ®2°py "1 holds that 0>7132 can’t be used for 1¥n based on o>>maw 952
(2) Yet
(a) ®x2°py " disagrees with o1 ' and says *1w “wvn can be used for ;xn
(i) Because he applies 72> mxn mgn to " wyn

(if) And to the x>wp of n>kn nn he answers "1 *1x 7277 based on "
RIPAA

i) It’s 7anon that
(1) Based on 112°1 mxn mxn and the & of Ao

(2) *>°%a77 501 " can’t derive from 03*mawn 932 that *aw “wyn can’t be used for
X

(3) And that’s why >2°%x77 °01 "1 needs to derive this 17 from *11v
7) X"wonn part 1
a) Nwp
i) We established that

(1) If we had relied on o>>mawn 931 to teach that 770 °ni% can’t be used for
A ga)

(2) We’d have been &2y with 770 °ni% in 1wax 21 71
i) Why doesn’t mooin answer that

(1) Tt’s for this reason that *>>%x77 >0 "1 prefers to derive from >1w that »1w wyn
can’t be used for 173n

(2) Namely to teach that »1w "wyn couldn’t have been used even in 211 11
RSy

b) v n
i) mM»ooIn can’t use this 721 because
(1) '® ®xn>12 mentions that it deals with *1w “wyn in oW

(2) This suggests that the xn>12 deals only with 21w n*2 ya1 and not with yar
Tyax 21
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8) R"wann part 2

a)

b)

d)

P
i) Xnon says that *1w qwyn and 770 °nn> can’t be used for 7¥» because they’re
not Mawn 932 PoIX1
ii) "w says the same in his v17° on wian and also at :v% 77 at ®Xn>>RT PYo "7
PN
Xowp
i) We’ve established that
(1) based on 72°1 mx¥n mxn and the X of A1yHR
(2) *>°%77 °01° " can’t derive from 03*mawn 932 that *1w “wyn can’t be used for
YN
'aRbY
1) Must be that
(1) xn%>>n disagrees with mooI1n and holds that
(2) *2%am >0 " can rely on a>*maw as well as on *11w to explain why wyn
1w can’t be used for rx¥n
(3) Because *»°%x77 °01 ' disagrees with x2°py '3 and holds that mx»n mxn isn’t
a"mam
i) Note that
(1) It follows that *%°%377 *01° "1 doesn’t necessarily agree with the o of "
RIFAE
Xowp
i) How can the xn%°2n rely on o>>mawn 932 to teach that 770 »»n can’t be used
for nxn
ii) After all we established that 77730 >ni% were mawn 922 PRI iN WA 21 727
'aRbY

i) The xn>>>n deals with on?w n*a yar
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1) First in7pn on "onb" that’s made from 727 7%°%2 as understood by nvoin
a) If the on% is made by "o in an 092>k to which o°n is added
i) 7 " and woph won both agree that this "on>" is 7717 1 1wo
b) If the on®% is made by "sx in an 057k to which no o» is added
i) If the 0o%K2 ™ oX is by "p>a77 o2 ona"
(1) 7 " and woph w agree that there’s a 7%m 2vn
ii) If the oo%xa " »x is by way of "r°nai7 71027 pra7a"
(1) yam " says there’s a 79n 270
(2) wph v says

(@) there’s no 1771 210 because "R N2 DoMNY oW1 WY ORI teaches that
an> can be made

(i) only by a=n
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2)

3)

4)

5)

6)

7)

(ii) or by an 02K that’s °27:71 710291 N7 and counts as 71N Py

c) If the on% is made by primn oo

i) 7 " and wop won both agree that this "an®" is 7%mm 12 v

i) Unless

(1) ™% 977 inaMmn
(2) or "»x 77 without o
(@) for jam " in any 0a?&
(b) for w>p> w1 in an ©92°X where 2777 7022 M°N7

d) If the an% is made by mnn awyn

i) Both jam "1 and wop W agree that there’s no 721 270
e) If the on% is made by 71na ox

i) Both jan "1 and wop% w1 agree that there’s a 721 20
Second 7P
a) any 1107 12°72 that doesn’t count as an? and is 7717 72 MWD
b) also doesn’t count as an® that can be used to be 7% N >7° XY
third nnTpn
a) any o7 12°92 that does count as on? and is 7%n12 20
b) counts as *11v on> that can be used to be mx» N2 7> XYY
'R Xp™2at.h a7
a) 7207 7 PO ... NI0NT NYM PYMPORT PIWITI PIDI0N
X723 — MR02 of 'R Xn»92 as understood by mooin based on the nwpn
a) All of the cases in '& xn>>12 involve 751 77°92

i) jam " and woph w agree that nnonia non s 19mn 1 Mws because naon no s
made by rin1na 7w on without any later »ox

i) 7Im1> " says that PY™poRT PIW2ITI P10 are 7717 12 Mwd because 1790"
"ann awyn and aren’t 09X WY

iii) wop% w says that v Ipo R 1PIWTT PRDIOT are 72 1 s because 199"
"ooK WY where m°nan 910291 22270

'2 RN*12
a) DHRA MWYIT XN RIT N¥NA 7% NI 0T PRIV
Rplah
a) Nowp to wph v
i) 'axn>a proves that nxn that’s 099°R Awyn counts as an>
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b) y1vnof wiph v
i) 'axn1adeals with an 099°x that °277 730291 N2 and no o°» was added
8) 717 of 7av 7772
a) 7n "™ and wop v agree that

i) 7y 7992 counts as an® and is 7Pma 21 and X°xan 1072 regardless of won
o'na and whether there was ever any "x at all

ii) Proof is that a mawn in 7%n noon says that
(1) There is a 721 21°1 for 113010 79107 (72Y N°92) 70°Y ANnN
(2) Because the no°y already counted as an> at 7173 nyw
b) Note that
i) 7Y 7992 can’t be used to be &x the 211 for nxn
ii) because an® that’s 72y 79°92 is 2wn and doesn’t count as *1v an>
9) nmooin at X1y 9157 "7 as explained by x"wann at xnraw 782
a) Nwp to onan
i) RnYIw is may N
i) Why does the & nx in m1272 noon say that mnra 1no2
b) The yy°n of an 1’27 isn’t relevant to this X"w9nn
10) x xn>>12 on vIPn at 17 A7
a) It seems from the 1w? of 'x xn»12 that
i) von counts as an> and is 7912 20

ii) and the only reason the vm%11 can’t be used for non2a n¥n is that it doesn’t count
as °ny on®

11) mooin at monh vd "7
a) Nwp
i) We’ve established that naoni N is 02 V1PN
ii) It follows that
(1) '® xn>12 that says nonn non doesn’t count as an? and is 7217 11 WD
(2) is a 7o to 'x &nvo1a that says vYPn counts as on? and is 7772 2
12) x"wann
a) Xwp

i) Why doesn’t mooIn answer that 'x xn>12 deals where the 1nn1n2 7w°%n took
place in an 0o%°x that 2777 710271 °N7

i) While 'x xn>>12 deals with where 137% 95 11172 w%n and no 097°k was used
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b) y»n

i) We’ve established even for 111 " that 097°X awyn counts as an® only if no o
— let alone Prinn o°n used for 7won — was added to the 07K

13) qwni of mooIn at v!12n% v "7 as explained by X"wAan
a) First y17°n to the 79°no of '3 Xn**72 with '} Xn»72
i) 'R &n»™a deals with 71971 7992 as we’ve established earlier
ii) but s xn>>1a deals with 72y 7992 where we’ve seen that
(1) even wp% w1 is 771 that the 70°v counts as an®

(2) and all agree that the n0°¥ can’t be used to be 7¥» N2 >7° XY because the
70°v doesn’t count as 1 an>

b) Second y1n
i) "3 xp»2also deals with 179710752
i) But unlike 'x xn>>12
(1) In "a xn»92 there was a later >5x in a 71 [or 0o°K]
(2) and for this second "sx no o°n was added to the 0a%°x
iii) Note that
(1) there are 0190 that aren’t 07 the words "05%°%2 X" in mooIN
(2) and
(a) for o>oo that are o these words
(b) for w>p% w1 it must be that the 09%°& was °7277 710291 °nn
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T|MIN2 MERT ROR AAY PR ORI ORI M O RN PVWD 05N YR 7'M
Y9OOR 772y 109992 [IR] 1399777 KRR N R [1re7] (37IaT) X1 b o"wand
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1) First nnipn
a) We established in the prior m2°7 that
i) wpY W says 09K awvn is 7917 11 Mwd where N7 1027 22277
ii) Based on "7nX M1n2 oonnk oowi Wy wRY"
b) And we also established that
i) wph w is ponn between 72y 7°%2 and 151 7992
(1) namely

(@) mav N2 is 77ma 200 regardless of o na nwon and whether there was
any "»x at all

(b) 797 1n%°%2 is 77ma 21 where 012 o only where later there was an
DX in a MIn or in an 0o°X without o°» and 2777 71027 M°N7

2) Second nnTpi

a) In this m2°7 the words "oo%°x nwyn" means »*oX in an 097>k in which there was o°n
or that was rm°nai 710 2273

3) Third 7P
a) wop w1 agrees that 09X nwyn is 79m2 2°1 if 7MIN2 NOKR 777
4) Fourth mnpn

a) axn»a whose details aren’t relevant here refers to a npY?nn between 77 ' and
the Xnp Rin of 77 "

5) xma
a) It’s possible that

i) a7 " and the xiap xin agree with the qvow of wop w1 that 092K nwyn is Mwd
iishiia)

i) And they disagree this way
(1) xnp xin says there’s a 721 211 for 0o°R Twyn if MIN2 WOR V77
(@) This is consistent with the vw of woph wn
(2) nmi ' says that 097>k Awyn is Mwd even if 7N WOR 77
(@) This isn’t consistent with the 7w of wpH v
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6) Mmoo as explained to R"wann

a)

b)

c)

1oxw for woph won

i) Since wp w1 relies on X 7N ...0°W1 WY DX to teach that there can’t be
an> without a "in

i) Why is it that
(1) an no°y that’s 72y 1n2°%2 count as an? without any "o at all
(2) and an no°y that’s 7157 102°%2 count as on? if 71N Wox 777
mawn
i) The mo» holds that
(1) For the purposes of counting as on®
(2) It’s enough that the "*5& count as "mn fwyn Pyd"
i) And
(1) both
(@) mav N>
(b) And 1757 1n%°%2 that was 09%°R nwyn and TN WROR 777
(2) count as Man nwyn Py
Xowp
i) "M
(1) who says that even 71102 ax 777 doesn’t count as an?

(2) obviously doesn’t hold that the P05 teaches that 21n wyn Pyo is enough
to be called an®

i) so why does he hold that 72y 7%°%2 counts as an® even without any '»sx
altogether
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NIV 'Nn NN Xand 2" TR it T - "a p'tn 09'7'R nwyn 1770T X0
nou'7Nn

799 MOMY AR uYR wany ROWw (MR "o wn ' a7 o [2 ey 1 a7
bRania RNPR RODN T 2P N23 IRYOPY 123 ORNN2 WD 157 RT 'O mmphwn
ORI AR Y92 aTIPR a2 B 10 nDaR RDT XOR TIN2 IN 0DVIN2 ENRT 2T

TP an® PRT mwYena %Y 7ovwRa Rk 2N

1) nawn in 57 noon

a) 10D ORNW N2 TIN2 IR 0K IOKRI INWT MR INWO? 2P (PIM DY nnap) novvni
7200 997 Ny 792

b) 19119 9977 N°2Y 7912 192NN SRAW N2 TN IR 099°RA (MR 7Y 1PrnI) awvhnn
C) 2°°77 MIN2 MWD DRI IRWY AT TN 7T TR 27X 2O
2) mw of the x1nx M of mooin
a) °Xnw nnaand 997 N1 agree that
i) Annow is aona 7 s if 1211 was Hwani before vox

i) And the nporn in the mawn is that *k»w n°2 hold 223 xnn while 557 n°a say
N2 IR

b) namely
1) Inacase of "nownn" where Prinmn are AxNN

(1) >xnw nva are 13707 11 1YW because 1211 was Swani before the remaining
VY was 7oK1 in the ©99°K or the 1an

(2) 551 o2 are 7%m2a 2 because only a vwn was Hwani before 1217 was
19X in the 057k or the 71N

i) And the reverse applies where "7v°213" and nm are nx?Y
3) XM
a) Nwp
i) 7D RIW ORN 0V RIW RN

ii) In other words why is it that *x»w n>2 and %91 n°a are P2 between noowni and
Pleglsi!

4) nmooin as explained by X"wAn
a) Nwp

i) We’ve explained that the reason for the p1%°17 is that *»w n°2 hold 923 xnn
and 5271 n°2 hold 223 7Ry

b) y»n
i) It’s ynwn from the xn>12 that *xnw n°a and %7 n°a disagree in all cases
(1) Including where the original 770>y has exactly a 7%n nww
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(2) So that there is no remaining 7%n 2w w whether 223 XY or 223 xNN
i) And
(1) now that we’ve established that where there is a D1¥m1¥n YW the nponn
doesn’t depend on 123 XYY Or 123 IRNN
(2) it’s 12non that

(@) the npYonn doesn’t depend on 23 IR?°Y or 123 78NN also where there is
more than a owmxn MW

(b) Because a prior 712 — even of 1211 of the 70°y — doesn’t remove the
non arn
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SRR RIN2 RINY SIT2Y T2 PRI 71T 2N WARPT RWONT ONIN NTA Doy "o
D592 IRT7 59N Y9IBR PAMANT 2"'YT 19 PIRTY 27 KD 172Y ;772 Pavnn w''ay
W2 PRI RDT MARY RROTT ORINK 930D 2SR N7 9197 290 1T 2R MWD
T2 0" DRYAWS M ORTT YTNY 297 MIN2Y MWD 05PN P''0% KRONR 77T "aTa ')
RIND w25 IN 7''2AD IN WO 21ND N T RIWOHD PP2Y MWSD N T RO
TRR WPTPT OV 2 "% AR 77T 272 7MY w2 R KD MRPT KON RWOAT
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"B "MARP 2577 MM 1T 2'URT N2 O''MIN INER 2N WK U M Py 2"y
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1) First an7pn on "on%" that’s made from 797 77°92
a) If the on% is made by o in an 092°x to which no o°» is added
i) If the 09%°)a oK is by "p*a77 029 o
(1) yam " and wop> W agree that there’s a 721 20
ii) If the 09982 oK is by way of "r°nai m02 PraTn”
(1) 3amr 1 says there’s a 721 210
(2) wop wn says there’s no 791 200
b) If the on®% is made by primn oo
i) 7 " and wp won both agree that this "an>" is 7%nn 1 W
i) Unless
(1) ™ex 971N a MIn
(2) or "»x 77 without o
(@) for jam "7 in any 0aK
(b) for w>p% w1 in an 092>} where °277 7027 N7
c) If the an% is made by 71na ox
i) Both 111 " and wp% w agree that there’s a 7121 210

d) "ook nwyn" and "oo°R" in this M2°7 mean »*ox in an o9& without o°n where
7°N97 710291 P27

2) Second nTpi

a) 1 " and woph wo agree that 72y 79°%2 counts as on? and is 7°n2 21 and N>72
x>xv71 regardless of oma nwon and whether there was ever any »x at all

3) mwn in 751 noon for the Ripon of the xmx

a) o°Xin disagree as in the table on whether there’s a 7%1 211 for an no°v that was
P2 vYon and was later ox1 either by 0o9°R wyn or Mana
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797 2239 709M 70%WR 1T — 'R RYAY
jayamig! 01 M2 YRV X7 ORIN
"2 XY 'R XIWD X717 RN XN RWI7 XA XN
10D DOPRA arn Riieh) 7"21 Parnn v 7"21 v w'a
2”1 N3 70D 72700

b) Note that
i) Although the mawn seems to be p7nn between 7v°%ni and nowwnn
il) the x7n3 is p°on that there’s no difference between these two words
c) Note also that
i) Although the mwn deals with where Pon were vY7n before 7w
i) The 7 would be no different if the v°%n happened after nw»?
4) XM
a) xwp from the mawn to jan "
i) The onon in the mwn say that 097K awyn is 72m7 11 Mvs
b) yn
1) XN

(1) axn»1aat 19 77 sets out a npYom between xnp Xin of the xn>>m2and ™
Eahy

(2) 7am "1 says that
(@) xnp X and 7m0 " are pnn on whether 099k awyn is 7902 270
(b) And xnp xin agrees with the mvow of jam ' that 097K nwvn is 7912 20
c) wwp
i) oo in aon noon are still a xowp to jan "

ii) Because 13m° "1 can’t prove that the X»p Xin of the xn>>2 holds that 09%°) nwyn
is 20

iii) Since it’s possible that
(1) xnp ®an and 770 " in the X002 agree that 097K nwyn is Mo
(2) And this is their npyom:
(a) xmp Xin says that 0o9& nwyvn is 7772 221 only if 7IN2 ROKR 777
(b) 77 " says that 092°K nwyn is 797 1 MWL even if 911N2 DK 777
5) R"wann

a) We’ve established in the table that o5 in the 7awn in 79n noon say outright that
DOYOR AWYN IS 72m7 11 v but MMan2 MUoR s AYn2 200

b) But the other o>Xin in the mawn who say Mw» or 21 don’t say outright whether
they deal with 052>k mwyn or Mna »sox or both

¢) Still
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1) It must be that the o>xin who say "2w9" in the miwn mean Mo both for awyn
092°Kk and Mana oR

i) Because
(1) If these o>&in mean 7o only for 097°x and not for 1N

(2) We’d have the xwp of "o°nom 117" meaning it’s a pm7 to say that these
o°xin hold the same as the o°non

d) aoxw

i) Isn’tit surprising that a Xan would say mv» even if "311n2 1808 777"
e) nawn

i) No

i) After all we’ve established that the X nx accepts that 777 "3 in the xn>n2 at 77
1% can hold that 099X nwyn is 7517 172 o even if afterwards 71102 1RDR 377

6) mooin
a) 'axw°b for >0y "2 HRynw» ' that says 2°n
i) must mean 2n for both 7110 and 0a%°x
ii) Since otherwise "2 xaw>? for 01 "2 PRynw " is "o "
b) It follows that 331 " could have said
i) "xin"in the mwn in 7%7 noon itself
ii) and that he follows the mv>w of 2 x5 for *ov "2 SRynw "
7) X"wann
a) noRw
i) The following o°xin of the xw» of the mwn also say "2»n"
(1) w7 &np xan for 990 N2
(2) xw>17 802 Xan for sxnw n°a
i) Is it also true for these o*xin that
(1) they must mean 2> for 0o%°x as well as for mn
(2) because otherwise "o narm 11"
b) nawn
i) No
(1) It’s possible that in both cases the 21’11 is only for m1n and not for 0a7°x
(2) And it’s not a ®wp that if so the Xw>17 *X1n who say 2> are °nan 117
(3) Because o non disagree with the X7 °Xin
(@) In that while
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(i) Xw» 7 ¥np Xin says that *xnw n»a were w1 for both oo%°) and 1an
and %71 n°a were T for 0o%°) and 2>°nn for Min

(i) and xw 17 ®7n2 Xin says that 5971 n°a were s for both oo%°x and
71N and xnw N2 were v for 099°) and 2»nn for Mn

(b) o m>om say that
(i) 779272 5%7 021 RPW 002 P0m R
(if) Meaning that
1. >xnw n°a and 991 N2 weren’t PRINN
2. and agreed that there’s a 211 for 1an and a 1w for 0o°K
c) note that
1) it must be that it’s possible to say that
(1) the purpose of o>kin who lived after 557 n°2 and *x»w n°a
(2) is to teach that 7177 9272 %7 n°21 "KW N2 P51 RS
ii) because otherwise we’d have this xwp
(1) why does >0 "2 PRynw 17 'R R1w°H need to teach Mo

(@) When this is the ivw of w"a for xw>17 ®np Xin and the 7w w of 7"a for
RWI7 X702 XIN

(2) And why does 01 "2 SRvnaw» "7 '2 Rawh need to teach 2n

(@) When this is the nv>w of 7"2 for w17 &np &1n and the 7v w of w"a for
X7 X2 K1

iii) Must be that

(1) »or "2 Hrynws ' for 'k X teaches that *xnw n°2 and %1 n°2 didn’t
disagree and both held that the 17 was 115

(2) "2 xaw°b teaches that *xnw n°2 and %7 n°2 didn’t disagree and both held that
the 17 was 21

d) xwp
i) Then when we were earlier p>7» from 'a X125 for o1 "2 Hxrynw ' that
(1) "2>n" must mean 2> also for 0o°x
(2) Because if otherwise "a°»am2 1"
i) why didn’t we say instead that the purpose of o°»or is to teach that
(1) there were never two mww in what >0y "2 Hxynw° " said

(2) and that instead o1 12 Hxynw» " agrees with oo that 7102 Mo 0o7°R2"
"9

e) 1IN
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i) It’s not 12non that the purpose of the o°non is to be 712 the nvw of Hxynw ™
01 M2

34



T'NaI D192n 7aTa 2" TN T 9T - "0 PN 09'7'R awyn 17707 X210
"7 'yami

R7 2R 2°102% MDY 2°102K 23277 MY "D B 9" hDT "o phaTh ' Ta
TMINT DO JMRTD NIN TRWYR DY N7 2°1DaR ONTT 2%DaAR PhaTaT 0oy o
W2 'O W''RD PARN TR MR Do R1NT ODYOR YR NN 2%1Dan 1PN
1> FPIARY 2912 Y2772 N0 200 R RIYan P ORD MY ROWR RN PR
%' N0 ITAIDR POYTR Dwann KROYR 107 RDT MpS '0wnm w''as whnl aR DR
7'BRY TN RPN YD DY T 235N MONTTY 2102 PIATN NIV KD ONTY N7
YITaAR {0 2°1DaR Y272 YA KT ' PI0RT ORRDY 102 AvPET 720 "av M
PO A1 YAHDT ORP M1 7727 NT2A0T NANDR 02 3WDT DEYNR YR 1T

12''Y7Y 2°10a% ORI 2NDan

"D ROPaAR [P 299 "D ODYIR TRYR 20WH KD RIT MNT D B pavay 7''Ra
POOT NITTY AN TITT 23 Y R ODYINR YR 20WN KD RIT MNT ™0 ' 0oy
AT 19D TMNIN2 AR OOYOR YR WM W'D TR YITAR IPOT T 1Y 2%Dan
POYT ORT 19 PO XY MIN2 292772 O0 AR [OM 27 DDYOIR YD YITan o

TPTY DN RDT ORTY 1T FTPIANT DIWRAT IN TR Wan 197 21pan

1) First nnipn

a) an o'y that’s 09°X TWYH Where 1°n777 710271 2°27:7 and no o°» was added to the
DOX

i) counts as an and is n%na 2>n for e "
ii) doesn’t count as an% and is 72m:7 1 W for woph W

b) When this xx10 refers to "oo2°x nwyn" the meaning is 092°k 7wyn where no o'
was added and r°nan 710271 pPaTn

2) Second nTpn
a) Partl
i) The main use of an 09X is by "yw12 AnnM 2°192 AP27TA"
if) The main use of a M1n is by "o°192 AnNAM Y2 Ap277"
b) Part2

i) The 1o of 7r°nn is more important than the 19 of 7277 in considering
whether

(1) a use of an 0o7°x is more or less similar to the main use of a 1n
(2) a use of a man is more or less similar to the main use of an 07

ii) 17210 7P1aR isn’t relevant at all in comparing the use of an 092>k with the use of
aTun

c) Part 3 —various uses of an 0d°xX
i) If 2192 p°277 (in the 19% of an 097°K) and yna n°nA7 (in the 198 of an 0o7°K)
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(1) This is "wnn 092K nwyn"
ii) If yama p>277 (in the 19% of a 1man) and yna nonna (in the 1938 of an 097°x)
(1) This is also "wnn 0K Twyn"
(2) Because
(@) where in an oo%°x the 07 is yna (in the 1938 of an 0o9°R)
(b) it’s not relevant that there is yI72 7p277 in the 19 of a 7In

iii) If o192 2277 (in the 1% of a 099°X) and there was no nnnni1 altogether and the
w2 was done by 17310 TpIaR

(1) This use is "n nwyn PYa nEp”
(2) Since
(a) there was no nnnan
(b) the P27 Was 097°R 1982
(c) and 17210 fiPaK isn’t relevant
iv) If o°192 °277 (in the 198 of an 097°X) and o°192 °n (in the 1R of a 1)
(1) This use is "Mn nwyn yd *HY"

(2) because the i nn was 0°102 (in the 19 of a 1an) and it was only the P27
that was in the 193x of an 0o

3) X

4)

a)
b)

c)

IR PINAA MONTT 221927 P22 RYWT B YA X7 ' 127 DY R
DOPR IWYR NI L. RT D R

T TPYA %3027 1TAID APIARY %3020 PU2TH RWT V1N WA KT 9 701 27 VY 0K

>"w1 as explained by n»woin and X"wAnn

a)

b)

It’s a mw>ws for both jamy° " and wop w1 that all n1vox in a 7In are 7512 20
regardless of how the 71n was used

The x°va°x of 727 applies only an “sx in an 059X

i) That was 021921 p>2771 (in the 19% of an oK) and yInan 0 (in the 1 of
an 0ox)

i) And that we’ve established counts as wnn 09K wWyN
First 7% of the x°va°x by 1729

i) 7 " is 7% to woph w that there’s a Mo from 751 for " oX in an 09°X that’s
Wnn 09X wYn

i) noxw
(1) For 'R 7% in what 1% do 11> " and wop won disagree
(2) Keep in mind that >"w~ assumes that they’re not P21 on "5 in a 7N
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i) mawn
(1) They disagree on an 0o7°x2 "X

(@) where 0192 277 (in the 19 of 099°R) and o°192 7°nA7 (in the 1% of
T1n)

(b) that doesn’t count as wnn 05°% wyn and instead counts as 1°v> *ov
qNn wyn

(2) 7am " says there’s a 79m 211 while wop w1 says there’s no 7% 21N
d) Second 7x of the x°va°x by 1721
i) 7 " disagrees with woph v

(1) not only where o192 2717 (in the 19 of 099°r) and o°192 7°n77 (in the
19 of 71n) that counts as Man nwyn Yo *vY

(2) but also in the 191x of the X°v2°X where in an 09%°x there was 2°192 277
vIn2 nam that counts as wnn 059K nwyn

e) X1 is v that
1) the second 7x of the X°v2°X is correct
ii) jam " disagrees with w°p> w1 and holds that 75m2 2n

(1) for an ™»x in an 0o%°) where Y12 N °192 2277 that counts as nwyn
wnn 09K

(2) As well as for an ox in an 057k that’s 0°191 P*2777 and °192 A7 that
counts as MIn awyn 1Y "o

5) Twni of the mx°a of »"wn — the X°v2°X of 7O1° 27 on "17210 [P12RY D°3920 P27
a) For >"wn this X°v2°x by 701 279 with an X in an 052°X

b) But we need to be 2man for >"wA if the X°v2°x deals with where there was also
0°192 7nn0n ('R 727n) or where there was no o°192 07 (2 770n)

6) first 72mn for >"wn on the X°y2ox of qor 2
a) What if in an 097°xa "“o&
i) There was 0°192 p*277 and 2°3192 7°n07 that counts as ~an awyn Py oY
i) As well as 17215 712K
iii) Do jam ' and wop> w1 also disagree in this case
7) moon as explained by x"wamn
a) Xwp to the first 79mn of »"wA

i) We established earlier that 17310 p1aR is never relevant so that the case of the
first 7%nn is the same as 0°192 >N 221927 PP27aW 097X that counts as 1°va oY
TN nwvn

i) And we’ve established that &1 "1 says that 131 " and w°p% w> were pnn
also in this case
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8) Second 7%nn for *"wn on the X°v2°x of Ao 21
a) the xvax of nor 27

1) What if o°192 p>277 and there was no of nnnni at all so that the case counts as
2NN WY YD NYp

i) And the 7o°v was >wani only by an 1715 71aR
iii) Do a1 and wop> w1 also disagree in this case
9) mpoon as explained by x"wann
a) X°wp to the second 72mn in >"wA
i) Since &7°1 ' was vwo that the npyonn between jamv ' and woph wn
(1) applies to wnn 097°X AwWyn where YN mnam 0°192 P°270
(@ And 3m " says that 7%n2 2> even in that 198
(2) And also applies to mmn awyn 15 *ov for 0°192 1PN 02192 PP2TIW 0ON
(@) And wp> w says that %m0 12 1wo even in that 198
ii) It must be that
(1) In the 193% of Ao 21 that counts as Man Awyn 15 n¥p that

(@) For jam» "M it’s a 1ow 9o that 77n2 2°°11 because there’s no 097°K AWYN
wnn

(b) For wph wm it’s a 10w 93 that 7% 1 wo because this 193X is only nxp
70 wyn Pya and isn’t MIn gwvn Py vou

b) xipon of mooin
i) Must be that

(1) the n»ya>r of 727 and 7oy 27 don’t involve ©97°X2 o at all because the
X713 accepts that the npyomn between 31 ' and woph w applies to all
nYOR in a 09X

(2) And the nry2°x instead apply to n1*oX in a 70 as we’ll now explain
10) n7pa to the vw of mooin

a) consider these uses of a man based on rules that are the logical reverse of what we
said earlier for uses of an oo

b) Ifina-mn

i) o192 p2a7n (in the 1% of an ©99°K) and yna A (in the 1% of an 099°K)

ii) This is "wnn 0o2°K nwyn Pya"

iii) Note that the "X isn’t "wnn 052°K nwyn" because the ox in fact was in a "in
c) If ynapa7a (in the 10 of @ M1n) and 2°192 A (in the 198 of @ 71in)

i) This is wnn Mn nwyn
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d) If o192 277 (in the 19 of an ©o%°KR) and 0°192 N9 (in the 1% of a 7in)
i) This is also wnn Min qwyn
i) Because
(1) as the logical reverse of what we established earlier for 097°x
(2) where in a 710 the 709 is %392 (in the 1938 of a 71n)
(3) it’s not relevant that there is 0°192 73277 in the 1938 of an 0o

e) If o192 277 (in the 19 of an 0o%°R) and there was no nnn7 and the w2 came
about by 17310 12K

i) This counts as "oo?°R wyn 1"y nxp" because
(1) There was no nnnAn
(2) only P27 was 07K 19X
(3) And 17310 12K isn’t relevant
f) Note also that

i) It’s a muws even for vph w1 that there’s a 7%n 20 where R in a in
counts as wnn TN awyn

i) Because otherwise there’d never be a 7191 210
11) x7n3 as understood by mooin
a) 7277 XOVINR

i) 727 accepts that janm» ' and wop% w1 are p2n in every possible 1px of »ox in
an 0o’

i) But 727 has this x°v2°x for sx in a m1an that’s y7a m°nam o002 prati and is
wnn 09K WYn 1Y

(1) First 7x

(a) Does woph w agree that 7212 21 because the "o took place in a 7in
and it doesn’t matter that the "X was wnn 0972°R qwyn PvI

(b) So that w>pb w1 is P2 with 131> " only where the »»x was in an
DOR

(2) Second 7x
(@) Or does w°p? w1 say 77m: 12 Mwd
(i) Because the " ax was wnn 05°R 7wyn Py
(if) And it’s not relevant that the »5x took place in a mn
b) n2wn of X1 ™
i) The second 7% is correct

i) wp? wn says 72mn 1 Mws for an Mana »ox that yna monam %102 2270
because the " ax counts as wnn 09X WYN 1PV
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c) »wvaR of nor 27 as explained by m»oin
i) What if the "X in a 710 was

(1) in an 9% of 0°192 277 (in the 1% of 0o%°R) without nnan and the an®
was 7719K1 by an 17315 PN

(2) that counts as only 07X nwyn Pya n¥p
d) note that

i) for this nuw of m»doIn the X3 hasn’t established whether 737 ' and woph W
are P on an N2 »or that counts as 0ok TwYn P *HY

i) And from this it follows that for this v w the x*wp that mooin asked earlier to
the second 77nn of >"w1 doesn’t apply

12) x"wnn at % syam 7"Ra
a) ToRw

1) Why does m»oin need to explain that there was no innam at all in the x°y2°x of
nor 27

b) nawn
i) Partl
(1) If the 7rnn7 was yIna

(2) We’d ignore the 17235 12k and the 191x of the x°va°x of Ao 27 would be
the same as the 19 of the x*y2°k of 727 that X7°1 ' was already v

(3) Namely "sx in a 71n where o°192 p°277 and Y72 00
i) Part?2
(1) If the N7 was o°a02

(2) The 710 np1ar would also not be relevant and the 19 of the x°va°x of 29
7o would be the same as an X in a 71N where 2°192 7°NM 2°192 22270

(3) And we’ve established

(a) that this 19 would count as wnn» Min qwyn even though the 7paT is
0°191

(b) and that 815y *715 agree that there’s a 7%n2 21°n for X in a 7in that
counts as wnn M nwyn

40



T 97
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B'"op "D ITRY naNT VAW 2N TN Bnh Ik 391 772 "whna X Tmy th a7 |

RVOWD 3''7102 ;737 MPRT PIY DAk 1D 701D M RUW 2P W1 AR PI0nTS
:2''N7Y DR 77X IPINT 10

1) xn»ma
a) N7 78N PRYY
2) X
a) ToRw
1) X7 7%0 R
b) nawn
i) 700 Pownl PO PRI 70O 9
C) N1 MR
i) 77 nn° 1
d) xwp
i) 2°n> an X3 2°N5 N K27 KVWD
e) y™n
i) "7 RD*IDHT XN KT IOIND K272 MOK 77IN2T X1ONT NN
i) 1% vawn Rp
3) X"wann
a) It’s 1anon that
i) What counts as an® for nx» on ros also counts as nx» for 770 i

ii) So the x 3 could have asked xvw» even if the word an® didn’t appear both
for n¥n and 770 N>

b) Here’s proof
i) In the y17°n when the & n3 explains why it’s not X w»
i) The & n3 says that
(1) If it weren’t for &2

(@) we might have thought that &1°17 73 wasn’t eligible for 770 *nn>
because *n7 X057 XM

(b) rather than we might have thought that &1°11 7731 isn’t eligible for “nr?
77N because it doesn’t count as on>
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N7 7T
onY? X'NX 2" TN

1277 DUIY I DR N MY IR 772 RIT AR 72 "0 A XONR 7172 [R 7y b a7
TR AR YW TR WO 1Y WY 2MWM ITRIOR DR ORP Y n4n 5oy "o
WA R VR ORTY TAINT TION IR KD 10 MWYNY 721N 720 unn DL answ
1202 M9 HROWS 212 RDR N7 A1 37997 N12IND2Y NIR22 7'MAD RDIN A1 PIWNRN
7' PR PWRD WWPAT 23 DY AR A1 MDY BRI DWW IR WK WYY N7 30
(2"wn) 3% Swan KDY 'NN22 oD Bpl 3D 2w HR R 92 XoonsT 2N
1992757 R 'Oy ' amn Hutl RYY a1 N N2y [{no1 ataa 7amn} »''n]
LIWRIRY) PR w"en T [ATR] (R'TR) AHDT 32007 2wn 279272 NN

217 [2597% LIDRIR RDT 95w nRY] (25hn e

1) mnTpa

a) Rn " holds that *1w “wvn is max Pnn

b) Other »nKR7 187 say 1w WY IS VYT M
2) xpaat v a7

a) A person can’t be 7% n21n > X¥ with the following sorts of 2av that weren’t
107X 92 jpn:

i) A9173 AN was w19 but awyn nnInn wasn’t W9
i) Or nwx1 wyn was w19 but 1w wyn and 1y wyn weren’t wIo
b) because "o Rw 1" — the o°vo of "MO°RW 1" aren’t relevant here
3) X mxat 1% A7
a) to be nxn n27 XX the 7% must be "oow"
b) And
i) Since 7 kn ' say “aw wyn is max nn
i) It follows that a person can’t be 7¥n N2 >7° KX With *1w Wwyn
4) mooin
a) Nwp

i) presumably %2v also isn’t 037w so long as any necessary w951 hasn’t been
made

i) why does the xn>92 need to rely on "o xw "»" to teach that the mentioned
sorts of 22v can’t be used for 7x¥n

b) yynof X"awn

i) 92w does count as oo%w if the person who holds the %av can be jpnn the %av by
making all needed nws:1 to himself

i) "PWRI YN 72190 920 1 201 218 HRIWS IR 17 IR 172 R OX 0"
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iii) And it’s in these cases that the X092 needs to rely on 1Mo xw 1 to explain
why the %2v can’t be used for 73n

5) R"wann

a)

b)

d)

9)

Here is how to read the words of X"awn on the cases where a person can make all
needed mwAs7 to himself

1) "1y 370 R OR

i) PWRI YN 72170 922 1311 D1 W 7 R

i) WRI YN 72170 920 1227 U1 1Y ORI IR

TR

i) Why isn’t it necessary to say also for 375 that "PwX" WwWym 72170 720 WnHn Hon"”
nawn

i) A 7o can of course be im0 won to himself

i) And he can also be Pwra wyn won to himself for the 7w w in Mn2° noon that
YR Wy can be waoi to a 10 as well as to a »1»

ToRY
i) Why is it necessary to say for a »17 that "PWwx2 qwvnY 72170 920 1R Hun'
mawn
i) Even if the »17 is w™on the wr" wyn to himself
i) He’d still need to be w9n the "wy»n AN to a 172
Xowp
i) We’ve established that the xn>92 at :7% 77 also says that
(1) Because of ymo°Rw °n

(2) a person can’t be &x» with an 7o°y from which 79173 72170 was wH9y1 but
W WY wasn’t W

i) now
(1) since °xn " says “1w WY IS Max P

(2) Why doesn’t X"aw" need to explain why the &n>2 doesn’t rely on 037w to
teach that a person can’t be &% with an 7o°y from which *1w “wyn wasn’t
b

717N
i) X"awn assumes that the xn»92 follows 7127 who say 1w wvn is v PP

ii) So that 3w "wyn also counts as 037w because a person is *1w Wwyn w191 to his
own ownership
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NN 728 n" 1N

5oy MW Boa YORI 25N RY 197D 0 IR 1127727 1190 1R "2 Inbn bar 1''7a
RYTTD MY RN DRI NI MWYR DB PRI R TV ROpanp RI1T PIH NO7
12977 NITOR WIDPYD STROMAT 197D NIV AW MWYRD PR JI2TTAT 7190 XIN2 RN
7' KX WIRT DOPD 3K 207 xR A RE NI MR 902 DONI X1 N
7Y RAPR TDT DO DaR 70y PYa9 3207 RMIOINT 0 11297 Bav bava nen
T RD 71297 VIDPD SRR 20 70T ORT 997 10D RDIDT ORTY R''TD M1wn NN

SP'1TY 9D 'OINT AT ORP RNMTINTR RTT K172 0 790 TIURN

1) First nnTpn
a) omdaare PHax1only in ovHwn
2) Second 7P
a) "w wyn until it is brought to o°%w17° can be maw 931 7791
3) Third 7P
a) mxenn are mu2p for v wyn
b) namely
i) Once "1 wyn is brought to o°5w»
i) The "1 wyn can’t be 701 even if it later leaves o>Hw
4) Fourth mnpn
a) There’s a npY7nn in N°avn noon whether MV p Mxoma i RN™IRT O 13277
5) Fifth nnpi
a) If the 17 that mu2p mxoma is only 13277

b) Then &n»MKR77 — but not 1312772 — it’s M to be *1w “wyn 77o that was yinn Ry»
7°v? whether or not the »1w qwyn was xnavl

6) Sixth i
a) YoR ' says that
i) Even if the 17 that mup Mmxonn is Xn»RT
i) Once 1w wyn is Xnw1 the *1w wyn can be opn Ha 7701
7) xpmaat ah a7
a) RpPy "M

i) "mxn 19580 0>°Mawn 952" teaches that a person can be 78 nawt xxy only if
the nxn is Mawm %51 HoR1

i) Now
(1) From this o5
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(@) we’d have been vynn both »aw “wyn that was already brought to o>»w»
and o2

(b) since both are %ox1 only in o
(2) but
(a) there is a »12>7 of mxn-mMxn
(b) and we apply this "12°1 to “aw wyn even if it wasn’t Xnv1 because
(i) at least for a1yoHx "

(i) "3 qwyn — unlike o272 — is D2 MawIn 922 YoK1 after it’s Xl
because it can then be 7751 even in >

8) mooin
a) Nwp
i) for the “x7 18n that mxonn are nw?p only 11217
(1) ®n>»R772 — but not 132777 — *3w WK IS Mawm 732 2aK1 even if it’s not xnvl

(2) And it ought to be a mw w» that a person can be 7% N2 >7° XY with wyn
w

b) y1nas explained by R"wann
i) It makes no difference that mx°n» are mu?p only 11277
ii) The fact remains that now o102 *1w Wwyn can’t be eaten maww 902
iii) Compare :1% 7 where we said that 31297 9202 Rx1 1K
9) X"wonn at nbn vax "7

a) We’ve established only that "R1>7 Piwy>" 1w wyn is today mawin 932 981 1°R even
for the anx7 87 that mxoma are mw1p only 13277

b) but

i) the x>»0 of the xna that asks "n>x1 7" and explains that we apply a 12"
RN*7IRT to 3w wyn because of the X n of A1yoHx "

i) must hold Xn»x7 1Pu?P Meema and the Y oK "7 RN

iii) because
(1) for the K7 187 that mxoma are P only 11217
(2) There’d be no need Xn»7XR77 to apply the »12°9 to 1w nwyn
(3) And a 11217 17 shouldn’t affect where to apply a Xn*7IX7 *12™
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XN XN7T IR 0" TN

IND IRT 5" Doy YR 2w W RO KDY DIRNT M PR MWD "D 9N TR 7'7a
WYR AW W R KDY DRITT VIR MaRm D02 BaR1 TIND WwyR awT R'AT7
"SART RITY 2971052 923 DI 'OINT W'D Nawn Hoa ORI MWWYR MNP T KD ORTY
W'D NARIR D52 ORI ITIAY 0N QT 2R T AW a9 P KDY N7 oA

P'TY Do

1) First nnTpn
a) omdaare Hax1only in o
2) Second TP

a) " wyn can be mawn 552 77791 S0 long as the *1w Twyn hasn’t been brought to
alrii7alk

b) But mxnn are mu?p for 1w wyn
i) Once "1 wyn is brought to o¥Hw»
ii) The "1 2wyn can’t be 7701 even if it later leaves o¥5w1»
3) Third 7P
a) ryoHR ' says that once "1 wyn is Xnwl the “1w wyn can be opn 922 17791
4) xn»aat a7
a) NPy "M

i) "mxn 19580 0>°Mawn 752" teaches that a person can be 78n» nawt xxy only if
the mxn is Mawm %31 %K1

i) Now
(1) Were it not for a "2 of mxn-mxn

(2) The v n of mawn %32 would have applied to 1w that was already
brought to o°%w1° as well as to o>7132 since both are %ax1 only in 25w

b) aoxw

i) Why do we apply this »12>7 to "1 “wvyn and not to 2>7102
c) mawn

i) at least for 7198 "

i) " “wyn — unlike 0°712°2 — is a2XMawn 922 oK1 after it’s Xnv1 because it can
then be 17701 even in oY

iii) And that’s why we apply the "12°7 to "1 7w¥n even where is wasn’t X0l
5) xan) here
a) wopPh 1 nvnw M ova
i) For &2°py "y who says a person can be Xx1 his %% 2vn with 2w qwyn
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6)

7)

i) 29w W WwYn YW N2 0TR RYOW I

b) The first 7x of the x°va>x is that
i) A person can’t be XXy with 22172 "1 Wwyn Yw 791
ii) because

(1) Unlike »1w “wyn that isn’t 7%n and for 913°9x ' can be 7791 anywhere if it’s
Xnw3

(2) The 17 of 213°9% "1 doesn’t apply to “aw “wyn that is 7on
(3) Because 11711 that is nknwa is 79w X% and can’t be 7791
¢) The second 7% of the X°va°X is that

i) "»xi" — unlike o202 — the “xw “wyn that is 71 would have been %32 9ax1
mawn based on 71y X ' were it not to have 1vn aw

i) We apply the »12» to "1 "wyn even where it wasn’t X3
mooin as explained by &"wann
a) First xowp
i) Why is it that the xn>12 doesn’t say that
(1) o102 can be used for 17¥n

(2) "o>>2 aw "HY P RY R R" the 0152 would have been Hax1in 9
mawn

b) Second xwp

i) Why does &2°py "1 need to rely on the »12°7 and 213°7x ' to teach that a person
can be nxn 210 k¥ for "1 “wyn that isn’t 770

ii) Say that *1w 2wyn counts as mawn 232 081 based on "°xy3" itif it hadn’t been
brought to o>5w1

7N
a) Partl
i) ">xa" applies to be nxn n2wn o7 x¥v only if (1) and (2) are correct namely
(1) Where because of a mx of two o°1>7

(@) For example the m% into "1w "wyn non" of the %1 17 and the 7
W WIN

(b) A Do isn’t mawn 933 HaR1
(2) And
(@) by being 791 the ¢ by applying &1

(b) the two separate o°17 that remain are maww 252 %581 without any
further change

i) For example
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(1) 1°n alone without further change is n1awn 922 oK1
(2) And 1w wyn alone
(@) even as it stands having been brought to o>%w»

(b) is maw 952 %ox1 based on the »2°7 of mx»n mxn and the & of "™
RIEPI

b) Part2

i) "»xi" doesn’t apply to be 7¥n naw > Xy for any 17 that as it stands alone
even without a 917°% can’t be used to be %7 N2 7> XYY

i) That’s why
(1) For o2
(@) As the o2 stand now after having been o>m32 aw "5y xp

(b) we can’t say "o>7132 aw Moy X 81 Rn" the 0052 would have been
mawn 932 Hax1

(2) And for "1 ~wyn
(@) Since the »1w wyn is now in 05w

(b) we don’t say "ow1°h 1MPYa X7 X1 2°R17" the “aw qwyn would have
been nmaw 952 Hox1

(c) and the 1w wyn can be used for 7% only by applying the »12>1 and the
Xn°n of 219K " [stop]

50



7' MIX AT Y AT

DTV STTEI ION A 200 MIPD RPPR 10 KD RRLI KD PR RPAVI 10 MR ' ' 7a
RITT YR T an7 A7 ROR 12 MR 1A3PR NN D2 1050w ROAT oy "
1D 2PY AR ' 7TDY RAVIW WYHR [OD2 MIPRT JAINT 7751 N MPD 19N 17751
PITIN2 TV TR MIPDT 3200 MID RDIN DR 207 KDY D ' Xnwm

2H'"PY 99T NIRDTONT IR WAIDT U WYAT A''53 w2 PP 132971 R 2R

51



N7 Q7
‘DI NI7N ANDY? NE'ThNRNI X'D Ny Xna

7O R97 190 Mwpah PRI 1D M sk npbrnmy RO nvpan 'R [2 1wy b a7
NIRRT 2% AY MO R B TRY 12 177 29 a3 'Y AR noYtan pa mvn nana
PPIIMT QOTDT AN OIRWT 217 00D IRWY AN 7052 P72 KRBV ORMRY PIRATY N
amRR AR MDA 0D NAYYAN P YT RDT 0D R PRID Cax Db nRT 17
TIT RDT MARP VT 2MWRAT 232 DT 0T Y9ORM MY IS VI 2T hawa ponne

1)

2)

3)

4)

5)

2T TIRY RN
PN
a) "mxnn Nk anewen" teaches that "nxn ows nnRw a7 2"
mwn at 1% 77 as explained by the x n3 here
a) 77N NN
i) 772 R¥Y PR INDRY? XYY
(1) Because the yonnn Xow mow isn’t "nxn aw" but is "nar aw"
i) 772 RXY 0007 RWY
(1) Because their y>ann Xow mow is "xn ow?"
Rapiab}
a) Nwp
i) 770 non shouldn’t be eligible for n¥»n anyway
i) Since n7in m°n are w2 w71 and count as nvwy ¥n for nos
b) v
1) W IRD PRI MO 7137 NPPINNY RO N0
mooIN at PXoann PR Mo n "7 at v a7
a) onran
i) M9 on aren’t P¥onnn so long as the Mo >» aren’t o°na 27w

i) Where the m s °» are o°»2 27w they’re yonnn? oann even faster than o
alone

X"wann
a) Nwp

i)  With so little yaw for so many m>r it must be that o was added to 1w for the
b

i) S0 "3m% Wwwyw 770 M>n shouldn’t be used for nooa Mxn out of a wwn that
they might become ynn

b) Two o°x1n
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i) First y37°n based on the X3 at 1% A7
(1) 7m0 mbn are prepared by 0°175 who are o1 and will be yonann x5 omw
i) Second yy°n

(1) Since we’ve established that there wasn’t enough 1w for 7730 m>n to
make the m>n count as 7wy

(2) It follows also that the 1aw wasn’t enough to result in y>ana% mman
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[lvaal anma n'»Hx A"

"D 72T TN QYN RITY MARIRA Boan 2D YRR 9937 1o 2112 PUONI 172
B 122 "DINT WP IR 1107 awa ROT WP 0 KW TIT PIRTY v 0oy
B BRAWS MY D2 PIYAM 212 BORIT RITI2 ANT INPT O WYRN MLIRDa
R77 21197 2971292 9258 MLIWDR PID 1753 1T ROV WPT 191 R''T70 mmh RTmbnb
M2 ART W'D 11997 DR MY D52 DONI PR 297 JAT2 AW WY anT NRNT
YR AT MWYR WRNRY PP 2112 1297 KD AT WYR A0 38T 200 ap PR
IR 1'"9% ROWR K2 RN JIWAN 2012 T92IRY AT ang poon 7w R han mnana
9% RO YA 231 372 IBR MIARIR 952 ORI N I'MHT 1190 uw wyna b
VYRNRT 291292 %23 KPR V0 RMWP KDY R''T7D Mawan Nt W wT »''e anmb
2312 29P PRT M0 DR R MR Hoan PN P2 v9vEam o'"Mb P2 p'ob b
TIOD MD T AT IR PP NI ORI 22 KT IRT TP AR MRm ROR Pvan
NOTA 30D SINTI TN 2P DOWTIR RITW KOS D DRIWS MY D52 BoNN 2w anp
2R 'DIN7 2" BRIWS Y D52 BoNI W WYM an7 RNvnna 3'DT uhw 290
PR M2 RITW 5772 WYRT 2''90 RONR INRT anT phony 10 A'9T 2vn0 wT
WYRY WRART V'R KDWY AT WYR 0 ROPAKRY anT 12np KD T 30 ynap
N7 77572 YR WD JVTE2 RUR TIPN W PR AW WY 90 BoN1 R0 KD a2
7Y% Wwpn RY R0 RDWM 2w 'oinm w''ho 2%hyab 1mna RUR PRSNI PRI 2P
NPT RIT 29710727 KON JIP23 291 7272 990 ORI 1N TR 1w wWwyna B9 1'ah

2P'1T7Y DR MY o2 DORIY 12PT 0D 1D 11T a0 1P M T b

1) First nnpn
a) 2772 8012 for RpY M
i) ©°7102231N2117 57 OTR RY 71
(1) mxn 198N D2*Mawn 9325"N
(2) "o1 Xx> MW 922 NPORIT XN
i) 7207 M MEn 5N WY AR ROXIN IRY 91D
iii) 002 X°XI2Y 22w WwYn ML DR IR
(1) 213°9R "172 Mawa 922 N7 WO NI WIYN IR 120
(2) 2921772 12°9R IR PTID RNVIW W WYA YR 1"'RT
b) Note by the way that
i) %7001 "
(1) agrees with &2°py '3 that 0°71222 1027 °7° R¥Y QTR PR
(2) but disagrees with x2°py "1 and holds that *1w “wy»n2a 1027 >7° KX IR PR
2) Second nTpi
a) mwnat.nb A7
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3)

4)

5)

1) 372 KX PR WYY IRWY 770 Mon
i) For a reason that’s not relevant here
b) X at:nb a7
i) Xwp
(1) Why not use the ayv that 7mn m>n are 1°%ax1 only 777 12 2195 22512
i) y1n
(1) 79231 2112 PYIRI ITIN MDA NN NRT WP WO IR
X°310 in 2°1ar at :2°p 77 mentioned in M0N0 at TYHOR " AR "7 0N 9 A7
a) For nyaw " during 1van 21 17
i) "nood yar 37 v1apa man" were opn 952 179oK1
il) 1w wyn that has no »ap 7
(1) For 'R X013 was X8 932 PooR]
(2) For "2 o3 wasn’t 9ox1 at all
b) For 777 " during nwax 21 7
i) "mood yar 32 M1apn M were ok 952 19IR]
il) 1w wyn that has no »ap 11 was a1 only inside the cities of w2 a1
mooIn at 212 A7
a) TP
i) We established for w°p5 w that
(1) 7730 M5 are considered to be maw 922 PHaX:
(2) Because 15vax 211 12 they were PRw» 551 1P9aR1
b) First x*wp based on the first xo7x in NwHw

i) Now that we’ve established for the first o7 that *1w qwyn was HRw° 532 2oK1
TWan 211 yar2

i) Why does the X3 need to rely on the 12> and 213°9x " to explain why wyn
1w can be used for 7¥» NN

c) Second xwp
i) 02 were also PRIw° 922 PHaRI N NWwan 211 T
i) "1 wynn R ORPT"

iii) So why does the &n»92 at 117 77 say 2>22 can’t be used for 7¥» because
0°7192 aren’t MawM 222 oK1

mooIn here at vax 2132 PRI "7
a) xwp of PR 0°01 127
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i) 7192 presumably ought to count as 1 3% 312pn M2IN

ii) It follows that that £>2152 were 2Xw° %52 1P2aK1 in 1Wwaxy 21 a1 the same as 12p
giel>

iii) So why unlike 7730 n%n don’t @>7102 count as Mawn 952 9aRr1 because they
were PRI *922 9IR1 in N 211 77

6) X"wann
a) First xwp

i) We’ve seen that moon earlier asked similar nywip for both »aw “wyn» and
0°02

i) Why does 1&3 0°01 12021 raise these nywip here again for o2
b) Second xwp

i) why doesn’t 133 2°01 11°217 ask his xwp for *1w 2wyn the same as NMvOIN
c) Third xwp

i) Why doesn’t 'R 2°01 12°27 rely on "1w wynn X1 rka" for his X*wp on 07102
d) y»n

i) We’ve established that

(1) only the first xoma of nynw ' holds that 1w “wyn was >Xw $32 9o81in 11
12N 21

(2) While

(@) 1w wyn wasn’t 9ax1 at all during nwax 21 a1 for the second ko7 of ™
a7

(b) *aw “wyin was 7oK1 only in waxy 21 during 1wan 21 ya1 for the mww of
amT

ii) It follows that

(1) To say that *aw "wyn counts as mawn 922 2ox1 for the second xox of ™
nvaw and for o7 "M

(2) The x 3 needs to rely on the »12>1 and the X1 n of TyHx '
iii) That’s also why
(1) &3 0111027 says that

a) Although he can’t rely on “wynn Xiw *x» for a X°wp on o> 122 for the
y
second xo" of Pnynw ' or for 7717 ' who hold that 3w “wyn wasn’t
DR 902 DIRI iN 7IWaN 211 77

(b) Still 222 presumably count as 11 132 312 M the same as 2P
giel>

(c) So mwy7a 957 the 7 ought to be that at least 21102 were 58w 932 HaX1
in Y2 21 397
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QITY'N XN'NI1 DTN

19153y 13 B DY SIWMAT KUK 957 IS 157 27 "0 1T RMAORY 77''72 'on
STRN5D BB 9557 MWD 1A"'TT 7T MWYR OO NP SN 7 9DITIT 023 SIWNT KT
STIORT 9DITIT 923 SIWRTD MWD 1" BT MITINT 52X RIT STATID NIAT 20 SBITT

15" 951 PEW MIWRT KUK NI WY nOO2 NRpl

1) mnTpa

3)
b)

737 IS wpneR to Mn in the P10 "oomY mixn Ky
See >"wn at 7¥» "7 0N 1% A7

2) mwn

a)

MMisap PN

3) X

a)

b)

d)

ToRWY
i) Maybe 2 n is "m7a" that’s an 97 vY that’s nni oo to a mnn2
mawn
1) M is wpneR to 7xn to teach that
(1) Just as nxn is a oovar P
(2) m7n also needs to be a o°y1 P
TR
i) Maybe 1171 is 1°177 that’s a 377 P that’s 7725 nan oo
mawn
1) M is wpnR to mxn to teach that
(1) Just as nxn is wyn A2 NNPA
(2) m7n also needs to be awyn Ao P
ii) This is 7°1777 vy that isn’t @ 7987 *19 and can’t be Wy» A022 P

4) moon

a)

b)

Rowp

i) In 7210 noon the xanx explains that 0777 can’t be 7177°1 because oyl °377 377
and q177°7 isn’t v

i) Why doesn’t the X3 use the same y1°n here
77N
1) The & na prefers the y17°n that 9% must be 7xn7 X017 that’s 2°vr 11

i) While o777 isn’t wpn R to n¥n and that’s why the X773 in 7210 noon needs to rely
on the y1°n that oy 277 a7
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5) R"wann
a) Nwp

1) We’ve established that the 7% can’t be *o°1771 because nxn 7n 7xnT Xom7"
"27 MM AR WYH 002 NNPIY

i) Why doesn’t m»oin ask the same x*wp on why the &3 for 91777 doesn’t rely
on the y1°n of oy 9577 "7

b) v
i) Here too the & nx prefers a y17°n that’s based on M7 Xm17 7xn
c) wwp
i) We’ve seen that
(1) The & nx says 17717 can’t be used for M n because "1 2°y97 11 nx¥n

(2) And the &am3x says 717717 can’t be used because wyn 7032 NRPAAw 7X¥N o
"0

i) Now
(1) We understand that o°¥1r 11 17¥7 77 isn’t a v1v*n for A0 because 737 1S
aovar Pn
(2) But why can’t qwyn 132 nnpoaw 1xn 7n be a vwn for M7
d) y»n
i) The most preferred y17°n is nxn7 X717 based on 2°y77 Pn nxn mn
i) The second preferred y17°n is n¥n7 %017 based on wyn q022 NAP°In %7 1
iii) The least desirable Y170 is a1 °377 "7
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107 971
D'YITA XNN™IX DT XN Xna

DaR P''7 mmh RODT "D W RAWR NPT KM RONRA [2 Ty vR 0T
RS KDY 'R AP PYNTT ARP OPID 20T PRARNRT AP 0" wa KXY nipaa
PYNT PR W2 NN RT PYITR AT WML 70 N7 TORd A mwwsa yn

22'1NTY 29DV 1T AMNR TAIDN ORP RDT RRORT 2% 201 'R A2 1NN

1) xn»a
a) "1 PN AW 19IN2 YT OO0 AWW DY AWw DA XOTW A3y
2) X7mxat.vh A7 as explained by »"wn
@) 27 MK R 2772 7720 MR
i) DAR T3P 302970 PYIT 10 M NP
b) xwp
i) We already know this from the xn>92
c) y™n
1) Mmisapypn
(1) x»°n7 174 that the 17 of the &n>>1a applies only to pnyar
(2) 12 vawn &p
3) X"wann
a) Here are two possible o°5%1 to explain the y1°n of the xma
i) First72mm
(1) 1 might have thought that
(@) ww applies only to ynyr

(b) but mp are *sv *pr and are xn°x relative to avr and need a larger
Y

(2) "R2P7 12 vawn Rp" that ww is enough also for mp
i) Second 77an
(1) “I might have thought that
(a) ww applies only to pPnyar
(b) but not for mp=° that are mns °p2> and need more than ww
(2) "xmn 17 yawn &p" that ww is needed for mp=> anyway
b) But

i) the x7mx holds that the w5 of 21 implies that 21 intends a 7 and that the
first 7277 is correct that mp are Xn°ox
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il) and this explains the x°wp that follows in the qwni of the R
4) Twnn of the X
a) Nwp
i) How can say that mp2° are xn°9&
i) When there’s a mwn that implies that it’s 11977 that are x»ox
(1) xwn of the mwn
(@) AR WA PYNT PR 2OYIT PN 9
(2) xo°0 of the mwn
(@) NAR YA PYNT NP PN 9D
5) qwna of X"wan
a) Nwp

i) The xx would have had to explain the following xwp even if 21 hadn’t
suggested that x»>ox NP

(1) The &n>>1a says that o>y are nnX w2 Pyan
(2) While the xw™ of the mawn says that "nnix 721992 PYI7 PR 22997 °10n 93"
b) y1n
i) Partl

(1) The xw™ of the mwn doesn’t mention the size of the "7x9y" that’s not
enough for o°v1

(2) And we could have said that
() the xw=n of the mawn means
(i) "ww By wwn M R DX NIV PYT PR 20907 200 90"
(b) While the &n>»2 says that
(i) ooyorare nnR "MW1 PYIN that’s ww Yy ww
i) Part?2
(1) But
(@) once we assume that 21 holds that mp are x»°9x and are *sv >p2

(b) we can no longer say that the xw>n of the mawn teaches that Pyar PR
WWn MNoa AR 737y

iii) because if so
(1) we need to say that the x50 of the mwn that says
(@) "nnX AAv2a PYNT Mpa orn 5"
(b) Presumably also refers to an 37y that’s wwn nino
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(2) And it can’t be that
(@) For mp that are xn°%& the 737w can be ww v wwn nno
(b) And for v are *w>wn the 737w needs to be vw %y ww
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N T

NIN'77? DIXN XNl IXINMY Ik Xna

N9I0 172 P RPY 2NN 1PAND PR NI DR YT ORI AR XA [R TIRY 2 0T
TRONDT 2R PPANY PR NI DR PUAT 7190 MWIWDA TID R IRBR PIRTH 0 "1
A TOINODT IR NN SINOND K2 MW ORNAR DOPD MRRTD PO 21PR2 KDY PR
SONORT NI NN P2 DOPH 00N PIWND DRSO PIYHT PITT 217R2 KDY PN
PINT 2IPR WIPINODT NITINT NN TIRR NINAT WD DRSS IPRY PITT 2R

1207 BRIAWK 20D K217 22D WO PIMT 21PR2 ROOW ROT 1921 RO 2 nvnb ban
22'7Y IR YAl IR TN

WY 7NN SpaT IRD ORT "D RRD WA 000D OpaT KXY R 1D mnbd msn aw
RY NI RY 77''RD2 207 7190 2aNTRWY 2N09 TIVIR KD NN MWT 21R 1w
T9'my 2w O Syash
1) X
a) X
i) It’s °nmn to be Pon mn%S for mxn on nod
il) Here’s proof
(1) it’s impossible to make "p1 no without 7in°n>
(2) yet a mwn says a person can be mxn 2y 7 X¥ with "p1 no
(3) So it must be that the person was nm? the yuvn
b) xwp to xan
i) It must be possible to make "1 ns or n>o without n°n>
i) since
(1) Sxmaw says it’s Mok to be v n mn%% for mnn
(2) And yet we know that a m3 129 requires noo
2) X"wann
a) Nwp
i) Why doesn’t the X3 also ask this xwp to 821

(1) The reason that Sxmw says it’s Mox to be 1vn Mn% for anan 1297 is that
we’re w»n that yonann Xnw

(2) And for the same reason in°n% ought to be Mox to 1vr Mn%% for nosa mxn
b) y»n
i) X217 as an X7mX can disagree with the o of SX1w on yonnn Raw w0

i) namely &27 can hold that both for 7inan 1297 and noo2 M¥» we’re not XY W
v nnn
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iii) But the mvow of >xmw is still enough to prove against &27 that nixsx»a there
can be "1 no and n%o without n°n%

3) Twnn of the xna
a) mnY> mxn because
1) the 770 says an w1 meaning be amw that the 7o°y not become ynn
i) and
iii) *XnH MW In°NY Y27 R OR
4) X"wan —x0a of the X
a) if anenis amxn
i) we understand why the 7170 needs to say ananwn that the 70°y not become ynn
b) But if 7n°n is 2 but isn’t a mxn
i) the 770 wouldn’t need to warn that ananw in all cases

ii) since a person won’t need to make "W if he decides not to be mn3?
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RNPYOD2 RIT 127 IRDD 2o0RR5T 1PUDR 1URY "1 IR Pan 7''72 'own [2 Ty » nT
"EART RN D' 2w RNPOeRT 2''Y 30 'O 1ans RY w7 v1a 'sa han B''ay "
KPR 32 PRI UR PRI W [IA] 220w PUSR nawa nvae bnw an n's
2w W w'"y 5oy "D XNpoD MY "D A "7 2T WwRw amea Pausn
™A 2UWS Bo2 MWW RNPERT DY JAMIT D''NT RApUeRn 'Y NOMT anvnav
2"y "3 "7 927 WA NIUETAY NAWA NITY DAY aR 171192 KDY aNa 'Y Db nawa

11''9 NS 157 NOMTI Nawa aR 1'% SAws KON 2OIWT 2192 39 PATI XNPIODT
:2"17Y 135 97N MORWY PTNT SROD 2ORWIT 17T

1) mooin
@) %W R P QUNET 0290 HY 1PIMI0 1K 0927 71492
b) For example
i) The xn3x says in 17773 noon that
(1) 1 PR on 2R Wi WA that’s i on naw
i) And yet
(1) Based on xnp°os

(2) We’re instead 7°von with *Xo> o°nwi1 on that naw the same as every naw
W WK

2) X"wan
a) Nwp

i)  Why does maoin in 72°3 noon say for the xnp oo that the correct 77von is
'7 927 WAw in '2 7R

b) v
i) Here’s the 770

(1) On the naw before axa nvwn that can never fall on w7 wia the 77w IS
nm

(2) If the preceding naw isn’t w7 WX the 77057 IS '7 127 WhHw
(3) If the preceding naw is w1n wx then
(a) Based on a7p 7*1n

(b) the 77wv5: is *Ro2 Wit the same as every other win WX naw
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["INXT Xl TN NIDoIn

VR DR R DINWT 112 'Y 1D IR TIND an T 70D PD2 MMMRT KT 7''N2
TIND A PRIX TIOD PUDAT RAIIT 2R P D''OY "D 2ynnT 2T R 2%
ORIPT MARP 77'DRY 257 3D 2PNAT 2T RAT VAR JNRIW 215702 MOR A NN
"27 N7 2°% 1 RWIR OUR DR anm ay 2on KU Tunbw JIRaT 997 KON

5" 'oIna w''YY 7R T 2wnnn

1) xwin pox Txeo at v a7

a) Partl
i) MORM N7 Y927 MOR (N1 290 IN? NN w1) on Nk an
il) N 9277 9727 1 N N
iii) on N7 1 g PNk on
(1) 923 AR?Y MR 2
(2) 723 ARNN MR DRI
iv) It follows that
(1) if the 72 is an the 721 makes the other an also and the case counts the
same as on 7in? an where the 197 is MoK because they’re *7777 *¥92
(2) if the 72 is ¥ it makes the other 1% also and the case counts the same
as ¥ 7N 1% where the 17 is amn because they’re not 7777 *¥92
b) Part2
i) Still
(1) In a case of 111x 7% an where for HXmw the 1% that’s XN IS 7271
(2) the on that’s I8%°Y needs n9°9p
(3) Because the o of the nxw is >wan the nxnn enough for the x5y to be
79°%p 970 Y72
c) Nwp
i)  Why does the X3 say in 7% o that 131% 730 on is 9mn on naw because
there’s no 712 altogether
d) y»n
i) Because in 77°2 po the 1293 that’s aknn is o°n
i) And
(1) if axnn are liquids the liquids are 2w the mn »n that comes from the
XY
(2) and the nxnn don’t become 5wan1 at all
2) }R"wamn
a) Xwp
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i) Butin p9x 7¥°5 the xnn is 291 that’s also a liquid
i) And still the 2wa needs n19°%p as we’ve explained

b) v
i) in a2 po the x>y as well as the axnn are both oon

ii) and that’s why the nv an of the X% is 29vn1 completely and there’s no 9 1w2
at all
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In7 INn X271 2" Tn
PITRITR WRAT PR 5oy 2" PInom 970 K2 2997 PRT 10 70 i Ran '
BRI R"Y RoY "2 DRRD NN RAYIT JIWNT KDY PR 0T K2 PRY 0
1) xama
a) a1 thickened pots with *0°ona 837°p
2) mooin
a) "NX7p" are oowTy YW map that 99 ®2 vonna? 0377 PR
3) R"wann
a) Nwp
i)  Why does m»oin say 72 92
ii) After all o>w7y are nravp and aren’t y>ann at all
b) y1n based on w"xn
i) mooin realizes that there can be no v at all

i) mM»do1n means that we’re not w>°n that a person will be 7y and use o727 that
are ynnn instead of nyavp that aren’t ynnn
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NN 7T
IX7 '®n 0" TN

TRINT DR M D'ARY ARPT N WRE BRI 10 WY R 7"'72 [N Ty X2 a7
To%Y RIT NIRRT MW PRWET TN 2RI IR INNR R RDYDT Doy 1o RN
BOPRT RPN RITT ROTT TWPRT NN20D DA PR NMAR RDT RIT DaAR yRnn R
M21PN 'Y P2 WA TNIRT PR 0APER BT RDT 0"V 901 92ND RPN BT
N2 DV NIRRT MNRI TADT B 1T 2''AY NORX R nvaxa onnk X2HT 2"y 2N
PN NN RY M FOIWR TR RTT AR 2" IR PRI IR YR 2" AR nap
PRI RDY NMAR KD PRI O'ARY ARPT JNN2 A2 MDY RDINT KON 0 M7
N7 5190 ROMWP ORM DRI AR DI RT DR KD R 0'ARY PRI 102 Dan
bY AR PRI 2NN MR INN 10 AR PIAM RDY NORXK KD N1 N0 RRONRT

TP'TY DA RD ORI DI NORX RDT 23

1) mmTpa

a) Water and other Ppwn aren’t yannn nmix and instead are viann meaning they’re
Tonnn

2) 'xxn»92at.n a7 0n Pww that "norh nna”
a) Nnp Xin
1) ymiisn’t nmx the Pww from being yonnn
b) sor"
1) yminis nax the P ww from being yonnn
3) 'axnp»aat :» n70n the placing of nnp and ymin into a »wan
a) Rnp XN
1) ™I DR M3 2"'NRY P DR TN
ii) 1P NN? 2"nNRDY YRIN NNR MoK HaR
b) o e
i) map 2"nRY yRIn nno AR W
4) xma
a) mvw of the RnR M
i) It’s 7anon that
(1) The ik w° of '2 kn»92is o1 " of 'R X092
(2) And the &np ®in of "2 Xn»92 is the &»p Rin of *01° "7 in 'k Xn*12
i) We’ll explain the 8720 of the x1nx M7 below
b) nn7pn to the Xipon of the &
i) Partl
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5)

(1) When mnpn nx jma and ymin DR 1M1 70 0K

(2) The ymin counts as 1va when it’s added to the mnap
i) Part?2

(1) When yminn ok 1mia and mapn IR 1m0 0K

(2) The ymm is already >>wana 27wn and counts as 1°v2 1k when the map is
added to the mixture of the ymin and nnap

iii) Part 3
(1) The np1onn between xnp Xin and 2R @ of '2 &kn1a s that
(a) xnp Ran says y»in is nmx only Pya
(b) o>mIR W say ym is iy also 1Pya ROw
iv) Part 4

(1) *or "y and xnp Xin in '® ®n>>12 deal with ymn that is being added yva to
ne1? 2 INaY PV

C) Nipon
i) It can’t be proved that *01 "3 of 'R ®Xn»92 is the ok w» of 'a kn»2
i) Since
(1) »or " of 'x ®n>92 deals only with ymn that’s Pva
(2) While o>amx o in '2 kn>>1a say that ynin is nx even when it’s not Pva
moaoIn
a) Nwp
i) Why didn’t the x3pon also say that

(1) o1 "7 Xmp ®I0 N 'R 8072 can’t be the XxP Xin of IR @ in "2 RN™A2
who say that y» i is nmx when the ymin is pva

(2) Since *o1r "7 Xnp RIn says in '& Xn»92 that v isn’t n¥ even when it’s
)

b) y1n
1) The xrnx mi assumed that
(1) The &np xin of 'x &kn>>1a is in fact the xnp Xin of 'a xn»12 because
(a) Although the xnp &in of ' Xn»92 says that y»im isn’t nmx
(b) the &np &in of 'k &n>92 also holds in 'a xn>>72 that
(i) where ymini nX 101 2"ARY mApa DR 101
(ii) the ymm is also not ynrn
i) 7oK
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6)

7)

8)

(1) Then why doesn’t the X1p XN in "2 RN™92 permit nX 1M1 2"'1RY y7RInT DR 1NN
gfalrhy

i) mawn
(1) There can be some x120 that explains that
(a) Although ymn isn’t yiann where ynImi DR 101 2"ARY apn DX J01
(b) ymm is viann where nnpi DX 101 0"ARY YRINT DR TN

c) Note that this 777m of npoin establishes that it’s possible to have a case where
Yo isn’t P»IX and also isn’t Yann

R"wIN
a) Nwp to mdoIn
1) Maybe the xrnx M7 holds that y2m that’s not nmix is always ynmn

ii) And the reason that the x»p Xin says it’s 7w to be a%nn nnp 1011 is because
T IS naIX where 3770 mnpn R N

iii) And the reason that the &»p Xin is 70X to be a%nn ymnn X 33 is because ymin
isn’t n»¥ when 7910 ¥ DR I

b) y1n

1) Inthe x1rnX Mi1 the X na hasn’t yet realized the &720 of the x1pon that there can
be a p12°n1 between

(1) ymin that’s v2 and can be nimx
(2) And ymin that’s not 1°v2 and can’t be N
i) And it must be that
(1) There there’s no other X720 to be p%nn between
(@) m%nn nnpa R M
(b) And 7%mn Y R 3N

(2) Because otherwise the x1pon of the X m3 wouldn’t have been forced to say
the p%°m is between ymin that’s 1°v2 and y»in that’s not 7°va

lah!
a) oXmnw

i) yminisn’t nmx the pww from being yonma because the 7597 follows the xin
Xnp of "0 " in 'R Xn™M2

Twnn of the X at .xn a7
a) WX
i) For %&mw who holds that y» is similar to o°»n and other Ppwn and isn’t N

i) y»inin noyvn would also be the same as o°n and other ppwin that aren’t nix
but are ynnn

74



b) xwp to w17
1) vanm yan X291 NN NonEn X7 8n9T
9) mooin
a) xwp of moon to support the Xwp to *wX 27

b) We’ve established that the X*»X M7 can accept that there exists a case where ymin
isn’t n»mx and also isn’t ¥ann

c) So
i) The xwp to *wx 21 is correct

i) And it’s possible that the ymi1 in no17r is another case where ymii isn’t nmx
and also isn’t yann
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D'NA INIX " XA

2"R7 2D 10 Bunan a2 BN I PRwn INR 2% KUK 09 PR 2922 IR M 'R
INR2 P2 292 P2 YRRRT HRNanY K1 PONRN DR KON b2 KDY 2%%2 2100 XY n''R)
APOYT IOD PINT IITM WY 5oy "o R an 9D dunanT 390 ' "o ppen
SOR 197 HRNART D 7D IR ORI 9ORY PR XOPa 290070 WX IR
KD 2% 1''Pa PRRwR INW YT 'R PAYARE A1 R WP NVRAR YA
™ DR 2'DT RN PRWR N P2 29 P2 yRwn buan 1" 892 Y9 ava amnsk
NP K97 2R KPR KT 292 202 andT R RAMIN R 20N07 29T wnb
9257 IRDAY "9 AR ROOR A1 9 371" PRRWR INWT ARP RO UP1 292 RPITT

1"y DISA anDR R WA T RDT 7R V0D Dwian HRaT N2 TLRN

1) xn»a

2)

a)

b)

d)

TORY
i) WXPX DX *D 02 Hwan Sw3A1 K1 13P1 199K 2R 20N
il) P32 PORT PRPWR IRW 2722 RIOX D PR
nawn
i) 721
(1) 1w 92 RY — 377w QYL 12 PINUY — 1AY0 TIONT PRYR IRY 1O1 1M 2P NN
i) "1
(1) >R PPWn IRW ART 11097 Swan HwaT M2
TR
1) 128N
72wn
1) 7P °%% 12 KON
(1) Mmyv PreonT PRwn IRWY 1"Pr 29777 11277
(2) myw 2on ®HT MW TR 2982
i) Swan HwaT 87271 MOK 7P 7% 2

TN IR

a)

b)

WP
i) For-an

(1) why does the p109 begin by referring to o°» and end by referring to >wa
%wan as a M2 to teach that the same ~ox applies to other ypwn

(2) when the s could have achieved the same result by not referring to o°»
and not setting out the 27 of Ywan Swa

YN
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i) if the o5 hadn’t referred to on

i) We’d have said that the m1o°x applies also to a standard >>x where there’s no
PPwn at all

3) X"wann
a) Two nrwip on o"RA
i) First xwp
(1) 2"x should not have asked his x°wp for 21
(a) Because
(i) Even if the moo hadn’t said o°n

(ii) »21 would have needed the 12> of >wan Hwa to teach that 17p *%x is
Rllehs

(2) o"xn should instead have asked his x°wp for 1127

(@) Why does the pos say o°n and then require us to rely on a “mm %p to
include other ppwn

i) Second x*wp
(1) The yy°nof o"x1is a pm7

(2) How could we think that 2% is mox when we know the 17 that oo 129p
needs to be *5x

b) y1n of X"wann to the xwp of o"k" as asked to 1327 instead of to °2n
i) The oo mentions o’ simply because most 212 is by o

ii) Once the oo mentions o°» we need to rely on a = m p to include other
rPwn
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AN XA DX 7D IXTY 710 X

B2 IRDRT PAYTIR POON RITIAT PIPTY WY 1D 297 R 1DTR D IRDE 1 aw R
S2NDD WR UP RIR RIT R R IND ORI WK DR 29057 2R OR 29977 N7 100N
HX AN DT 2R MONR RIIT NP NIRT "D T2 NAR DRN2ART RI MKRP RR 'K
SRR 12 T NTRR DRNARY RI MARPT IN2T 7 T9OR 923 TN AR AT WN
TP 2Rh Y WR DR BN I KT DI

1)

2)

3)

4)

"X Xn™12
a) 21 X7 (X217 RIWT) 127X DI WRHE 7
i) 2"n
(1) wx %% X °> 012 Hwan HW K1 13P1 128N OX
(2) 1087 7% *nAR 02 Swan Hwa Kl
(3) 127% 9 RPRW ®N
"2 XN*M2
a) 21 X7 O DT YOK 71
i) % 7mhn
(1) ooma wan Hwar K1 1111 19980 OR
(2) °r R MOKRT 77 *NAR 012 Hwan Hwal Rl
b) m%nna% i X7 N7
i) MORT WX *HX X 3 M7 TIM7N
7
a) ToRw
i) Why would we have thought that 157 53 1&>% is 10K
b) nawn
i) we might have thought that wx *x is a vy » that excludes wx *op
X"wann
a) Nwp to "wn
i) Then why is it a y17°n that 1278 55 1RDE X771 72 n0Ak Hwan K1

ii) Since wx *%x implies that "wx *%p 85" there should still be an 7%nn>% Mo°K to
UuSe 197 95 XY

iii) The same as for °n
(1) Where although wam k1 is enough to exclude mphn for °n
(2) wx 2% ox *> still teaches that 7%5mn37 it’s Mox to be °n 93X
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T 7Y 1IN XO'R AT

H'oy "D WK YBR AR DT WY ROOR NITDT Yo7 RWIWD Har 15 vBR 2K 7772 'own
INDD DR KDY TWYD ROR RONR KD 2927 IRWH WK SR 2R 997 3P0 'Y nuw b

1B mY 17101 RpP9IR V127 DRan) K1Y RN
See (NMWRAT) W2 TMPN PRW 7"70 at X1 A7
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Ywana X7 728 2" TN

B'"'oy "2 BOph D7D 2D NMINR P01 KD Ay nHOhaT "o bwiana KRY ban n''Ta
WA ank NTNKR P51 M[OR 7aY INDIRa2 WIBR RATIT RN Y R2WWT RO
INPT RO WY YRWRT ROR RXVAM a3 PON2n TN 'Da o oM B 'oinn

JH'"PY RIATIT RN POTY 0D NORT M0 RYR 9D DY AR dunan

1) X7 as explained by >"wA
a) °or "M
1) mMno1 XOW D HY AR HWIaNT POPN2 PRI PR
i) X3 22 DR MR DT
iii) And the 2wra is Hvan the an® ow
2) nmooIn

a) We established at .15 77 that an 7oy that’s 72y 1n%°%2 counts as on? regardless of
what’s later done to the oy

b) So it must be that the X3 here deals with 737 10992
3) X"wann
a) Nwp

i) We also established that even ;12y 1n%°%2 loses it’s an? nMn once it no longer
has x»m17 Xn* N

i) So why doesn’t maoin explain that the &3 deals with 72y 1n%°%1 in a case
where 72 removed X»i737 XN

b) v

i) The words of >0y "1 that speak of "nm1 7w 5"vR Hwran" suggest that "o "
deals with 77%n that still has x»737 ®n>n
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NN Y XN I'7'OX X XTIV A" TN

77 YL J9DAT 91T RRYY RO MIATY W2 RDT RDUY RPWY 1D K XYW ''7a
anT °'"WNDD NP TNPRA 7972 PAYH MPPWT N7 R anm RTT PR POy "o
DYV M1 RPINT 9577 MITY P2 N7 RO DAN 77IR Y JWAT IRD NEna 3UNwR
7712 07 anT MTT KT QWD 'TINTR IR MR 27 O"'Y KDY YR 1vva nop
IR R 7R3 D'RWR P YL 172 NONY YA 1T MPRRwT 2mn 1 mphwa

TP'ITY YR RIT IOD Y23 K27 1" KDWY IR YL IND DO

1) First nn7pn as explained by m»oin
a) 'RRP™M?2
i) Cor"
(1) there is mxn n»or R 701 that is Svan the an ow from nxn

(2) With the result that a person can’t be %1 n21 X¥» with the nxn that was
wan

i) PR "
(1) There is no 7xn NdR IR 7w

(2) With the result that a person can be 7¥» nawn 8% with the nxn that was
Swan

b) 'axn»a
i) There is *%% anx 72 for nos 127p
i) With the result that
(1) a person who eats the nos j2p that was Swan after it was 77x1
(2) is 72w on the W5 of o2 Ywan Hwa ... 1nn 198N K
2) second mnTpi
a) X9 says that
i) Based on a »12» of Ywan Hwa for nos 127p
i) Evenrn"
(1) Who says "ox nx 2w px for xn
(2) would agree that *2x% nx 22 w° for nos 12p
b) note that
i) in effect X9 says that
(1) were it not for the »12>7 of Ywan Hwa
(2) We’d have said that
(@) "2 xn>12 0N °%% R 2wa we for nos 127
(b) follows the fww of o1 " for nooa nxn that ox KR D2 w
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i) Because we assume that the 17 for nos 1299 should be the same as the 1°7 for
Priea)

3) Third fn7pi
a) R2W says in 1372n 735 pIo that
i) The 1572 for mpow is 2onw because Mwea is Hvan from nmpa the "p" aw

ii) Similar to >0 "1 who says that “ax iR 2we2 v for 7¥n and the w2 is Hvan
from nxn the "on>" ow

b) But the x1pon of the X3 is 7m7 the musw of X7 and says that
i) >0 " holds that »ax anx D2 v for nxn because "7xn oyw “ya7" "IRW %7

ii) This doesn’t apply to the 1572 for mp>w that "oyv >va X7"and that’s why
the 71972 for mpow is in fact still 72787 ™D 812

4) mooin
a) It follows that
i) Just as the x1pon of the X na there is 7m7 the nww of k5w and distinguishes
(1) mxn mxn that needs to preserve its ixn oy

(2) from mpbw that "oyw >va X" to retain its 7572 even after it no longer has a
P QvY

ii) Just so the xipon of the x7mx would distinguish
(1) mxn that "ayy *ya"
(2) from oo 127p that "oyw *ya &H"
5) X"wann
a) Nwp
i)  Why would msoin think that 7x» ovw *ya nxn and nos 1277 1S 9% oy *ya R?
b) y1n
i)  When mooin says that nxn» is ayv *va

(1) mooIn means that it’s missing avv after :w°1 in the sense that it’s no
longer pva

i) And when mpoin says for mpow and oo 129 that vy “va &5

(1) maoin means that mp>w and nod 127 aren’t missing ayv after w2 in the
sense that they’re still y2
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INN T
77 X7 NN XTN "INKRT XO'N A" (IWXRID) il Tmn P'Re a1 "wn

WR DI 77019 DD 290D KT WR WX RS 5'"'n PRY 772 2"whpa [2 TRy XB 0T
WR YOR PIT OR BWRT RPN AN YT wawma v"wnn 191 9o "o mem
WIS ONKR WK WX AR 97 1200 '0IN7 PR NRP IRDY 2R WX R''DT R M nEm
OR RY "2Y aR M1 YRR Y MOOR A MR WR VR RAP R ORTIT 0"
BRMARY O WARY N2V AR VT WY MMOINRD DR WK OWE X''DT 1answ 'omnm Bo

9™y baman ' 'oIN2 Y ROMaY A

"D WR YOR AN D 2MWM 297 ROV M a2 7D R R R TR 772 'on
R707 2% 7PN N''M5Y 23 MNORT D'WwATa wRn o "0 BT Rnva b wpn
192Y 57 P2 DDA RTOM 277 PN 12T DK SII0 K2 2907 RO2V BN MRT
WY TR R'OY B''D KD 1799Y RAT RTOT 207 R2WWR 1927 wHDKRT X2 N2V MR
272191 K707 299 ROM2Y A7 121 O P2 PRAR NINDAL M2T KON T PRT PINT XU
93995 R2TY MART 9557 MY RTINYN WIRNROH K21 2D KDY 19927 wHsn 17981 K27
R7OMT 29 ARPT 2977 LapnT U0 NI0 MWW w0 U DaR K701 An7 Y
T ROMIT WK YOR R''ST W2 92UPT RYN RIM2U A2 KRR WRR NPhR 29977 IRY
WR WX 2R M2APPT RTOM 27 MRPT 277 K27 70 NDRT W RNMN22 NPT
MY TRV N2YPT WINIT 29 ROUR RTOM 27 WARP @R MIPDR 297 R B
NUM20 212 23 779 VPRI 0 KPP Y127 DRan R12 Mphnh K17 IRD WK 9X R''0T
WY 327 R MIPRR MIRT IR 290 PWHT IV IR NIP 2R 11200 9227 277 Pwha
IND2 NI 77 RI7 RIIT IOR RTIADN POTART AP PAYAY TINR NPKRY RO2TS NRp
2077 PIWOR MPRARRR 9 PTR RY IRBR RMT AOR RO PTY RTIMPAR B "D
NOOR R72 3719 MPDR 29977 1917 1912 IR 29977 PRBT 2"y KUK DX ax unpT
WHR NIPDAT PIITY TIVINR NITIR NOR INIT WINDY RO DRT 27T 2R MMS
M7 N2M 277 WD KDY ROM2W AMa 1ODT DWaT RUTTAY RIT RIMIT MR
ROTI2 AR T DY MITR NOAR YODR MWD NAWR ROTT NOMIT O''NRT MR

12T NITIR N 2977 BaR NIPDRR 1T MWDT

1) nnpn
a) Nnp RIp
1) IMPOR> 011 DY MIXM WK 9
b) xapaxp
i) WX 9 OX °D 0°n2 Hwan DWW K1 131 12980 R
2) XnM2
a) There is no mpn for ">m ann Hox" because

i) "WX OO OX D 02 Hwam X1 11mn 120K PR" counts as a > only for Swam xi1 that
the oo lists separately

ii) But "wx %% oX > ... 12mn 17980 PR" does teach that °r is 77mn2% Tox
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3) In the x°x0 that follows

a) °"wA is IRan that X271 says that wx *9% ox *2 is a W for > 1958 and "nna Hwan 12ox
X320

4) mooin
a) Nwp to"wn
i) We’ve established that the Xn>>92 says there’s no X7 for °m 175K
b) xipon of mooin
i) Must be that 27 holds that "wx *%% ax >3 ... a1 12280 X"
(1) is an nwy for °n and R12v *»n
(2) and is a x> only for Swany x1 that are listed separately in the oo
c) By the way moin also explains for X2 that

i) Swan x1are already 2°°n1 a first 182 based on their separate listing for x"
"PoRN

ii) "wx %% ox 2" teaches a second > for Ywam R1 by way of m>o and wpi to
Swam X1 that are already Xp?°» °12 based on the first W%

5) X"wn at v 7bn pRe a7
a) TP
i) °"wasays in wmnn wieo and also further in the X°x10 here that
(1) Xnp XIp —IPIRN DM NIXM WR VDY — S an nwy
(2) And "wx 9% ox 2" in X7N2 RIP IS a R?
b) Now
i) This 7%nn fits with >"w= who says that 87na X7p is a X>
c) But
i) for m»oin who says that X102 &p teaches a person is 121w an vy

ii) we have this x*wp: why do we need two o°»105 to teach a separate nwy for °n
and &»2v "na Ywan

d) y»n
i) A person is 12w the 7wy of xnp X1p if he doesn’t eat oo 127 at all
ii) He’s 72w the nwy of x7n2 xp if the nod 1297 he eats is °>r or X>72v 2 Ywan
6) R at'x Ty
a) X701 2N
i) 21 ™Mav nna Hwaw nod
b) xa
i) The 2vrmis based on "wk "% oKX 3 ... 13Mn 17580 R
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7) H"wann mentioned in X"wann at “nRT XK 0T
a) Nwp
i) Partl

(1) How can mooin say for X271 that wx *2% ax *> counts as an nawy for >n 190K
and "12v “nna Ywan

(2) When

(@) %27 himself says for &7om 21 that &2 *nra 9wea is 2% for “Hx ax *>
WX

(b) presumably meaning that a person is 2>r for being 121w a 7 if he eats
109 1277 that was Ywan in XM2v "nn

i) part2
(1) why does x7om 21 say that "wx *5x ax *>" is a X7 for X2 nna Hwan
(2) When we’ve seen that the X172 says "wX *2¥ ax *>" isn’t a W7 for °m 1758
b) y1n
1) X701 27 says that
(1) the xn»92 that says there’s no > for °r deals only with °n
(2) The xn»12 agrees with him that there’s a W% for &>2v *nna Ywan
i) Xan
(1) explains the ayw of &70r1 21 for X*72v *»n

(2) but disagrees with 7011 27 and says there’s no 1X? for &>72v *»r as well as
for °n

8) X"wann
a) Thisisapmi
i) There’s no X120 to be ponn between °r 19aK and X>72v “nn
i) And nowhere does any anx7 &» say that X237 disagrees with x7om 29
b) y1nof x"wnnn
i) Infact
(1) Neither &70m 21 nor &27 is Ponn between °n Y9o8 and &*2v 02 Hwan
(2) And in both cases wx *%% ax *> counts as an 1wy
i) when X701 27 says 2»n for wx "% ox
(1) He means nwya 2»n
(2) And
(@) he uses the term 2»n that implies a >
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(b) only as a 1m0 that the words "wx 9% ax °2" count as a second w5 for X1
o°n1a Hwam

9) Twnn of X"wann
a) TP
1) "2 Rn™2in this X210
(1) 21 m2wnwn K3 N1 20 QY TR M8 N1 HIX
i) R
(1) since "2 xn>>12 compares 2% and X1
(2) It must be that 2 xn»92 uses the word "2»n" to mean that
(@) there’s a W% 2rn for o 7wan *H¥ nord DR
(b) the same as there’s a W7 211 for 72wnwn X1 N°T2 YoK
b) aoxw
i) Does "2 &kn>>12 support the y17°n of X"wAia that without this comparison
i) We could have read 211 in 'a Xn>92 to mean awya 2»n
c) mawn
i) Not necessarily
i) Maybe

(1) Even without this comparison we’d say that "2»n" in the Xn>92 means
there’s a W?

(2) And
(@) the %13 needs to compare *% and X1 in 'a Xn>12
(b) only to prove from the x1 o>k that
(i) the w» for o 7wan *H% oK is a KN*7IRT IR

(ii) so that the mpn for being 72w this W7 is ®kn*7I8T MpPYn and not
1297 M7 Mon

d) "oxw
i) why don’t we use the same approach to be yann the xowp of >"wann

(1) x701 21 uses the word 2> to teach that there is 33277 77 mon for nn
X210

(2) But in fact there is no x>
e) yn
1) X701 27 can’t be referring t0 73277 M7 NOM
ii) Because

(1) x70m 21 in the same X1 also says that nawa &*2v »na Hwan is o
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(2) we know that "1w5" for naw means Rn»MK71 Mwo but there is M7 Mon
11277

(3) So it’s 1anon that when x7om 27 says 2»n regarding 11oo 129 he means 2
RNMRT
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(wn) 1?7 TN P'RY A" TN

NN K97 5" Doy bumany Xi1D 5n0T 212 R 1M "D W' PRR ''Ta
WR OR R'"D W wan K1 5P mphaR R wnTT 3190 KUK XD D wTR
MDD ORTIA 157 N DD Haph @D W1 RPYIR S12T SRNam KRID RDOMMDTR
YNANT XA WRAT PRT D DR QP2 U AYWa RWAT 7 O RwROM
777 9202 Bapnan D 'oInaY 1R 10D unan K1Y wR WX R''DT KXW novaon
bS5 R 1R WIRN DR 7D TOR0Y A MIZRY WK VORR KW 70y ROITT NONN
R ORTY RIT P72 98 "0 A 2 "0 'R PRY RIWIDT PINT R TN vy
TIRODE (1APRTD) RIT D' 902 HRT DR RIT RSUINT RO NIZRY WN ORT

TP (PRRAT) 21 TIRn PRW 7172 b wnwn

1) First nnipn
a) Nnp XIp
i) MR DM DY Mm WX HY
b) Xp2xp
i) WXHX OX °> 011 Hwan DA K1 111m1 19OKN IR
2) Second TP

a) See the preceding 712>7 where we established for m»oin that "wx *%x ax >32" in &P
X1na teaches a second 1X> for Hwan K1

3) xn™32
a) noRw
1) WX 9% QX 2 M7 TN PR
i) "WXOOX DX 3 Y TN
b) In other words
i) Once we have xnp X1 why do we need Xn2 Xp
c) mawn
i)  We need x1na x1p to teach that
(1) R399KN %22 1w °PX 10K 0P WYV IYYA
(2) that it’s only n>°wnwn that there’s an 72°oK% Mok for X1
4) mooin as explained by x"wAan
a) Nwp
i) Presumably it’s from the 0> of "wx *5% ax *>" that we derive both that
(1) there’s a second > for Hwam X1
(2) the 17 of 1w w nvwa
i) How can one mn° teach two separate o°17
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b) v
i) The o>7w°% aren’t derived by min»
il) Instead
(1) First

(@) from the m>>mo and wip i of ">wam R1" that are Xp2>°n *12to 5% ox 2"
"WN

(b) We derive from wam xi1 that wx "% ox °> applies a second w7 for X1
Swam as we’ve explained for maoin in the prior M7

(2) And second
(@) based on the 59> that 73ma% wp i X

(b) We rely on wx >%x ox °3 to teach for Swam R1 that it’s only 7>wnwn
that there’s an 719°9X M0°X for Swam X1

5) x"wann
a) Nwp
i)  Why not apply the y17°n that mooIn uses in 22pnn P79 in Xy*¥n X312 that
ii) the wp>n that the &Xn>>12 in our &0 applies to teach nuww avwa
(1) isn’t between wx 5% X °3 in X2 X7 and Swan X1
(2) but is between o1 Mxn %y in &np RIp and HwanT K1
b) v n

i) The Xn>92 can’t say "> 720 pRY" to imply that x»p X937 is otherwise
unnecessary

i) When we certainly need xnp &1p to teach that it’s a 7wy mixn to eat noo 129p
Hx on "o P
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A'NN'Y 7 'R AT M'wN

By AT P RUTR 7R Wwwa KRR 12 2vnnw Y0 PR ''Ta v'wesa
RY7 9" 1p2% Y9DR ORTY NV HaAR 9IORD W IONWIRR WA YT RIT PR
RI2 P"'PY INTOR N7 ROMIT 1IN MOINT KA KD ORBRY 27927 YOR 2D 12T
TR [RIN 2ND] WANWSD KDY 7MWW K1 INWY2 KPR 299709 KD 915D 2900 RD7
IR 7O " WAD 9T A TSR 9% RDT DR waTh T T Iy an Py e
TOORY 3" pan Yowa 7oK RYR DI NRIEK DY 2919 9 PR PIWDT RIS WD
TR ARPT 9277 720 9277 RNDISR2 RI772 701 BOWHTIR 927 290D XA "D IR IR
"D Hway BN P 2" wan Huiam K1 HaRN Haa K17 X BoIN2 RITW Ywa KON W0

27 TR KD M

1) xp

a) 02 HWwan Hwal R11M1 17O8N OR

2) "p377 ’pe2"

a) 2°°77 R 01 TIWaN RI N 90K

b) "31 X1 958N 922 1w VH¥ PR QP2 NWOW AYWAT

3) 277 RpMM"

a) "ov Twan owa" is 21 based on the »121 of Hwan Hwa

4) "vn

a) 217 ’n>12 teaches that

i) Although the S1wa a1 9Py is qwnnws

i) "Swan"is 727n that

(1) a person is 21 also where the 72 was v 7wan

(2) so long as the 1%°ox of the Hwan qwa is qwnnwn

0D

o 7IVan 1998

01 TN K1 WYY

13297 X072

2 n

TURINwR 199K

or TWan °'n2 17w

"% 5277 RNMM2

5) X"wann
a) First xwp

i) It’s ynwn from 2127 198 279 that 1n»%¢ was o1 7van

ii) So the xww of "qwnnwn yar p°v" applies to 72°5x and not to "oy

iii) So mwwoa we ought to realize even without a »12>1 that

(1) Just as 1n»Hx is ar Mvan

(2) Just so the 2 for eating >wan awa applies also where the 7122 was Tvan

oy
b) Second x°wp

i) The 2™ of Swan applies only to Hwa
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i) There’s no »12° for K1

iii) yet there’s no Xin that says there is no avn for 7%°ox for what was made X1
while o1 Tva

c) Third xwp
1) There’s no connection between

(1) the 13217 ®n>>2 that deals with oy 7wan X1 n°1> »a8 where the 79°08 was
oy Tvan

(2) And »217 &n>>12 that deals with where the 212 was o1 7wwan and the 792K
was Twnnwn

d) yrn
i) Contrary to the nv>w of *"wn
(1) »217 ’n>>72 doesn’t deal with 73°wnwn 122K81 2 Twan 17wa
(2) Instead

() »217 ’n>02 teaches that a person is 2»n for 7w even if or 7wan 19ax
and the w2 of course happened before the 7725

(b) And disagrees with 11277 &n>>12 that says a person is Mo if o1 7wan he

IS X170
Mvd oY TIvan 1998 07 TV2N K1 INRYY 71277 X072
27 TUnnNwn 19oK v Nyan 1w >"w1Y 9277 XN*>M2
27 ar 7Ivan 199X av Twvan 17w mooINY 277 XN°™M2

ii) This is also the v w of xn%°on
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7227 B B''op KD 2927 W DaR "o 7 MWRD 7''72 'O [N MY an 0T
QISAY ITINT MWDK AN TRV DR N27T IRD 172 N9 MRD w72 and nyewnD
R 170209 927 MWIRD IR RAVT 2D RV 7D WA 2''N2 Y DT

TR Y AY ARD T 2T AR "D MR Baa
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